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Question Number : 1 Question Id : 9767558725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following letter series:

GL LN,QS, VX, .
Options :
1. * CE
2. % BD
3. % ZB
4. AC

Question Number : 1 Question Id : 9767558725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fraferRad &R e o1 Q1

GL LN,QS,vX, |
Options :
1. * CE
2. % BD
3.% ZB
4. ¥ AC

Question Number : 2 Question Id : 9767558726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series :

3K12, 5020, 7828, , 11A44
Options :

1. ¥ 8W32

2. % 9W36

3. % 8V32

4. % 9V36

Question Number : 2 Question Id : 9767558726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad e & Jud ue J1d e

3K12, 5020, 7S28, , 11A44
Options :

1. % 8W32

2. ¥ 9W36

3. % 8V32




4. * 9V36

Question Number : 3 Question Id : 9767558727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series:

77 7y 777 7
Options :
1. % yyyz
2. % zyyy
3. ¥ zzzy
4. % zzyy

Question Number : 3 Question Id : 9767558727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad e & Jud ue I e

72 7y 777 Z

Options :
1. % yyyz
2. % zyyy
3.9 zzzy
4. % zzyy

Question Number : 4 Question Id : 9767558728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. PADDLER
2. PACKING
3. PACIFIC



4. PACKAGE
5. PACKETS

Options :

1.93,4,5,2,1
2. % 3,54,1,2
3.% 4,52,3,1
4. % 4,2,5,3,1

Question Number : 4 Question Id : 9767558728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T Yol 1 ST HH H HIRUT B ST HHAH d UsGHIY A BId &

1. PADDLER
2. PACKING
3. PACIFIC

4. PACKAGE
5. PACKETS

Options :

1.93,4,5,2,1
2. % 3,5,4,1,2
3.% 4,5,2,3,1
4, % 4,2,5,3,1

Question Number : 5 Question Id : 9767558729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option pair shares the same relationship between its words as that shared by the words in the below pair?

MF : PC:: ?

Options :

1. # KS:PT
2.¥LT:0Q
3. % MH :PL



4. % PF:RD

Question Number : 5 Question Id : 9767558729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed # § fd faden & Weg g A 98! Jay § off YaY -Ta fou T e g & A g |

MF:PC::?
Options :

1. % KS:PT
2. LT:0Q
3. % MH:PL
4. % PF:RD

Question Number : 6 Question Id : 9767558730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Fabric : Yarn :: Rubber : ?
Options :

1. * Boots

2. * Pencil

3. ¥ Latex

4. % Tyre

Question Number : 6 Question Id : 9767558730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Y fawed o1 T o Sl TR U I S TR | Fafdd § O TR I g8R1 U Ugd U § Wefid B

pUST: Jd ::Xds :?
Options :



1. % §¢

2. % URM@
3. ¢ ek
4. % TRR

Question Number : 7 Question Id : 9767558731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

MPZ : GJT :: HNU : ?
Options :
1. ¥ BHO
2. # CDE
3. % AIM
4. % DIQ

Question Number : 7 Question Id : 9767558731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdhed BT 997 B S iR UG ¥ 34T UHR ¥ Yafdd g fo UR ¥ gOR1 UG Ugd Ug ¥ Hafed g

MPZ : GJT :: HNU : ?
Options :
1. ¥ BHO
2. % CDE
3. % AIM
4. % DJQ

Question Number : 8 Question Id : 9767558732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If BUN = 18, MICE = 32, then what is the code for DEMON?
Options :

1. ¥ 50

2. % 25

3. % 30

4. % 35

Question Number : 8 Question Id : 9767558732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g BUN = 18, MICE = 32 &, Al DEMON & iU ®1€ &1 52
Options :

1. ¥ 50

2. % 25

3. % 30

4. % 35

Question Number : 9 Question Id : 9767558733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If TASTE = 30, LAME = 20, then what is the code for FIGURE?
Options :

1. ® 36

2.9 42

3. % 48

4. % 24

Question Number : 9 Question Id : 9767558733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TASTE = 30, LAME =20 §, @ FIGURE % folU TS o1 82

Options :



1. #® 36
2.¥42
3. % 48
4. % 24

Question Number : 10 Question Id : 9767558734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If PEACE is coded as MHXFB, then what is the code for TOWER?
Options :

1. ¥ RTUIP

2. % PQRIM

3. % SUVIQ

4. % QRTHO

Question Number : 10 Question Id : 9767558734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe PEACE &1 MHXFB & ¥U & ®Ifgd fur a1 8, @ TOWER & ol ®ls s 82
Options :

1. ® RTUIP

2. % PQRIM

3. % SUVIQ

4. ¥ QRTHO

Question Number : 11 Question Id : 9767558735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code lanaguage,

mo co fo means Ram is smart,

fo zo jo means Shyam is late,

mo lo zo means Ram and Shyam,
what is the code for 'smart'?



Options :
1. ® mo
2. ¥ co
3. % fo

4. % 70

Question Number : 11 Question Id : 9767558735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Toh [AfEd g W H,

mo co fo bl \’Jﬁ% Ram is smart,

fo zo jo DI 3‘[21% Shyam is late,

mo lo zo B[ 3 of % Ram and Shyam,

'smart' &b ﬁ”I'Q CARKI] %‘?
Options :

1. ®¥ mo

2.¥ co

3. % fo

4. % z0

Question Number : 12 Question Id : 9767558736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How is my mother's brother's mother's only son-in-law's father's wife's daughter's only brother is related to me?
Options :

1. ¥ Father

2. # Brother

3. # Brother-in-law

4. # Grandfather

Question Number : 12 Question Id : 9767558736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TR AT & HTE D1 AT & S ald QTG o (Ul 1 Tall DI 9] BT Shadl HTs T by A& fad g2
Options :

1. ¢ fOT

2. % Y3

3. % QR /Il / S8 / 96

4. % QIQl/ATT

Question Number : 13 Question Id : 9767558737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the following in a logical sequence:

1. Elephant
2. Ant

3. Lizard
4. Fox

5. Cat

Options :

1. % 4,51,3,2
2. % 1,4,3,5,2
3.92,3,5,4,1
4, % 5/3,4,1,2

Question Number : 13 Question Id : 9767558737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad o aifdbe wr & caafRud &3

1. greft
2. it
3. fsumal



4. ST
5. foeett

Options :

1. % 4,51,3,2
2. % 1,4,3,5,2
3.92,3,5,4,1
4, % 5/3,4,1,2

Question Number : 14 Question Id : 9767558738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Akash, Binita, Chandan, Daksh, Ekta & Fatima are standing in a circle. Binita is between Daksh & Chandan. Akash is between Ekta & Chandan.
Fatima is at the right of Daksh. Who is between Akash & Fatima?

Options :

1. # Binita
2. # Daksh
3. # Chandan
4. ¢ Ekta

Question Number : 14 Question Id : 9767558738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31T, i, =, ger, Tehar 3R WIfaHT U R H TS g | faiiar, g&f iR e & o H § | 311, Udhdl 3R Ied & & | g | Bifaan
T& P T3 3R B | STHTY 3R BIfaHT &b did § B 82

Options :
1. % forar
2. % QY
3. % T
4.« Tl

Question Number : 15 Question Id : 9767558739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the question, a question statement is given, followed by two statements, I and II. You have to consider the statement to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given statement, if any, is sufficient to answer the question
statement.

Question statement : The average income of Leena, Meena and Kishore is Rs 45,000. What is the income of Leena?

Statement 1 : Leena earns twice as much as Meena.
Statement 2 : Meena and Kishore earn the same amount.

Options :

1. # Only Statement I is sufficient

2. % Only Statement II is sufficient

3. % Both I and II have to be taken together to be sufficient
4. # Neither I not II is sufficient

Question Number : 15 Question Id : 9767558739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy o Uy HUF fear T €, g 91e & Y, 1 3R 11 R T &1 3ueh! 39 YAl &) I A1 7, A 81 I8 ITH=a: J1d 9 I fire
Tdid 811 3Tueh! ug fufg 91 R 6 AU U o= H @ 19 1, afe I 8Y, O Uy U o1 IR &1 & el yafw 71

Y HYF: T, {7 3R f iR ot SId 31T 45,000 SUT g | ST B 31T T 82

HYF 1: AT, TS QAT HHT ¢

HYF 2: W1 3R fHR T & IR HA B

Options :

1. % Had HYT 1 YT §

2. % Had HYF [ T §

3.« T 811 & foIW 1 3R 11 G111 b1 U 1Y &1 g
4. % FIARTF nUAT 8

Question Number : 16 Question Id : 9767558740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : All dates are watermelon.
Statement 2 : Some dates are figs.

Conclusion I : Some watermelon are figs.
Conclusion II : No figs are watermelon.

Options :

1. ¥ Only conclusion I follows
2. % Only conclusion II follows
3. % Both I and II follows

4. % Neither I nor IT follows

Question Number : 16 Question Id : 9767558740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & & HY= feu U 8, fo e a1 gl s 1 3R 11 faw 77U §1 3uehl 37 HUAT &1 I AT 8, Y 81 I8 ATHIId: J1d 9 3 e Udid
g1l 3 g fufa o © & feu o frepsf A A P, afe 15 €, A R My ot & | SrgRuT e 21

B 1; JH TR Rl &

HYT 2: TS TR 3SR B |

fepy 1. B TRl 3R B

frept 11: PIS 3oiR TR T B
Options :

1. ¢ $ad (56 | SIERU BT ®
2. % Had (BN 11 SR Hal §
3. % 1 3R 11 3T 3TER R B
4. % 1 3R B 11 SFTAR0T Il §

Question Number : 17 Question Id : 9767558741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the question one statement is given, followed by two course of actions, I and II. You have to consider the statement to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given course of actions, if any, follows from the given statement.

Statement: A large number of people in area A of the city are diagnosed with COVID-19.

Course of Actions:
I : The city municipal authority should take immediate steps to carry out extensive testing of people in area A.
IT : The people in the area should be advised to take necessary precautionary steps to avoid COVID-19.

Options :

1. # Only I follows

2. % Only II follows

3. ¥ Both I and II follow

4. % Neither I nor II follows

Question Number : 17 Question Id : 9767558741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy H, U HY= a1 T 8, orIds 1¢ PRaE & &l HH 1 3R 11 R U §1 3! 39 SU &) I AFAT 8, YA 81 I8 JHad: J1d 9 3
fore ol 211 3muen) g Fiofa dr R b Ru T e & s A A 19 1, afe ¥ 1, Y T 1T Sy o1 S8R R B

HY: AEX P &F A F 981 =1 J ANl § HIfaS-19 BT FAGH g |

HRATS BT HH:
I: &3 A H AT BT HTUD URIEI0T B P [0l VR & TWRUTAHT MUDBR] Bl dhTd HGH 3o AU |
11: &3 H A DI DIAS -19 F o+ & ol 3TIIH TgIadTeh HaH 33T Bl I8 &l ST ey |

Options :

1. ® $HId [ IR0 HRAT §

2. % Had I 3IERU BT §

3. ¢ 1 3R 11 GF SER0 = §
4. % 1 3R B 11 STAR0T Il §

Question Number : 18 Question Id : 9767558742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If 2x - 8 > 4y - 2, then which of the following identities are true?
Options :

l. % x-2y<3

2.% 2y-x<3

3. % x-2y>6

4, ¥ x-2y>3

Question Number : 18 Question Id : 9767558742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 2x - 8 > 4y - 2 &, Al FEfeRad & T i It G4 93 82
Options :

l. % x-2y<3

2.% 2y-x<3

3. % x-2y>6

4. ¥ x-2y>3

Question Number : 19 Question Id : 9767558743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I[f29@12 =34, 57@38 = 38, 45@?29 = 32, then 67@49 =?
Options :

1. ¥ 36

2. % 18

3. % 52

4.%9

Question Number : 19 Question Id : 9767558743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i 29@12 =34, 57@38 = 38, 45@?29 = 32 %, dr 67 @49 =?
Options :



1. ¥ 36
2. % 18
3. % 52
4.%9

Question Number : 20 Question Id : 9767558744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
16:288::23:7?

Options :
1. % 483
2.9 575
3. % 552
4. % 506

Question Number : 20 Question Id : 9767558744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Y fawed o1 T o Sl TR Ue I 3 TR | Fefdd § 1 TR I g8R1 U Ugd Ue § Wefid B

16:288::23:7
Options :
1. % 483
2. ¥ 575
3. % 552
4. % 506

Mental Ability2

Group Number : 2
Group Id : 976755216



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General intelligence and reasoning Ability2

Section Id : 976755504
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755605
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9767558745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the following number series:
98,99, 108, 133, 182,

Options :
1. ¥ 263
2. % 225
3. % 228
4. % 252



Question Number : 21 Question Id : 9767558745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad Tem Y&ar o Q1 &1

98, 99, 108, 133, 182, |

Options :

1. ¥ 263

2. % 225

3. % 228

4, % 252

Question Number : 22 Question Id : 9767558746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the wrong term in the following number series:
128, 130, 134, 142, 156, 190

Options :
1. % 134
2. % 142
3.¥ 156
4. % 190

Question Number : 22 Question Id : 9767558746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiRad ke gadr H 7Tad ug J1d e
128, 130, 134, 142, 156, 190

Options :
1. % 134
2. % 142
3.9 156
4. * 190




Question Number : 23 Question Id : 9767558747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which two numbers should be interchanged to make the given equation correct?
672 +7 x 8 +38—-29=597

Options :
1. % 7,38
2. % 8,38
3. % 38,29
4. ¥ 7,8

Question Number : 23 Question Id : 9767558747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 1T 7T FHipR0T 1 T S o 17T b1 &) TBAT3fT bl IRIR a1 dliey?
672 +7 x8+38-29=597

Options :

1. #* 7,38

2. % 8,38

3. % 38,29

4.9 7,8

Question Number : 24 Question Id : 9767558748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the error percentage if a number which was supposed to be divided by 3/5 was multiplied by 3/5 instead?
Options :

1. # 56 percent

2. ¥ 64 percent

3. % 72 percent

4. # 48 percent



Question Number : 24 Question Id : 9767558748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T TReA fo 3/5 9 Tauiford fasan S o1 S o 3/5 3 7o fosan 7 o1, | I ufa=rd o g2
Options :

1. ® 56 Ufa=rd

2. ¢ 64 Ufa=Id

3. % 72 gfa=rd

4. % 48 Ufa=rd

Question Number : 25 Question Id : 9767558749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows the number of friends who have got rose, sunflowers and lotus in an event. How many of these friends have got
rose?

Rose A Lotus
(2

Sunflower

Options :
1. # 41
2. % 35
3.% 62
4, % 56

Question Number : 25 Question Id : 9767558749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3T 7T 37 SIRG | Gl &) e e=I 715 & f5T8 U 3de H TJaTe, JRogd! 3R HHd i g1 37 aal § 9 faral & U e 82
I THeA

A
o

gErEt

Options :
1. % 41
2. % 35
3. ¥ 62
4, % 56

Question Number : 26 Question Id : 9767558750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between transport, car and ship?
Options :



3. ¢

BC

Question Number : 26 Question Id : 9767558750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad & 3 o 9739 3ME ulkaed, PR 3R 8T & g & Aoy I g 33T S2TdT 82

Options :




O
O



Question Number : 27 Question Id : 9767558751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents uneducated, square represents employed, circle represents male. Which area represents uneducated
employed who are female?

Options :
1. % F
2.¥G
3.% E
4. % C



Question Number : 27 Question Id : 9767558751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad srefa &, Brys sifXiféra &1 ufafAfia wxar 8, o Faiford o1 fafafia a7, 31 I3 &1 UfdHida Hal g | 19 1 &3
3ifRrfera Fraiford &1 ufafifica ®rar & o Afigar 82

Options :
1. % F
2.¥G
3.% E
4. % C

Question Number : 28 Question Id : 9767558752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows the number of students who have passed in Mathematics, Geography and History. How many of these students
have passed in only one subject?



History

Options :
1. % 28
2. % 30
3. %27
4. ¥ 45

Question Number : 28 Question Id : 9767558752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mgqﬁmﬁwwﬁﬁwﬁmw%’ﬁhwﬁﬂ e 3R Sfasr & Iiivf gu § | 370 O fovan B raat e fawar § Sffof
gU &Y

o e
A
()
shae™
Options :
1. % 28
2. % 30

3. %27



4. 45

Question Number : 29 Question Id : 9767558753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ashish starts to walk 2 km towards south, turns left and walks 2 km. Then he turns left again and walks 2 km. He is facing which of the
following directions?

Options :

1. * East

2. % West

3. % North

4. * South-West

Question Number : 29 Question Id : 9767558753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRS GFa0T Bt 3R 2 km T L= BT 6, TT8 3R TSdT § 3R 2 km T ¢ | FOhR 98 iR I 918 3R &1 § 3R 2 km T 5|
frofafea # Q forg fezn o SueT Hg 82

Options :

1. % gd

2. % UigH

3. ¥ 3

4. % Sfro-ufgH

Question Number : 30 Question Id : 9767558754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Krish walked 250m towards south. Then he turned left and walked 200 m. He then turned left and walked 250 and then turned right and walked
150 m. Where is he standing right now with respect to his starting point?

Options :
1. % 350 m east
2. % 450 m west



3. # 350 m west

4. % 450 m east

Question Number : 30 Question Id : 9767558754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HY R0 Bt 3R 250m TAAT & | FhR a8 915 3R TT 3R 200 m TaT| 98 fHR a18 3R ST 3R 250m Tl 3R fhR T2 3R YT 3R 150 m
TAT| 3 BTt fog & Ty # ag onft wei wer 82

Options :

1.¥350mJd

2. % 450 m Uf¥H

3. % 350 m O

4. % 450 mqd

Question Number : 31 Question Id : 9767558755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nitin walks 0.2 km towards north. Then he turns right and walks 0.3 km. Then he turns right and walks 0.35 km. Then he turns left and walks
0.15 km. Finally he turns left and walks 0.15 km. Where is he standing now with respect to his initial position?

Options :

1. # 0.45 km west
2. ¥ 0.45 km east
3. % 0.30 km west
4. % 0.30 km east

Question Number : 31 Question Id : 9767558755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAfe IR @Y 3R 0.2 ke T 3| R I8 T2 3R YT § 3R 0.3 km I 3 | fhR 98 12 3R ST 8 3R 0.35 km TAAT & | TR T 918
3R g1 & 3R 0.15 km AT & | STRRBR T TT8 3R TSdT § 3R 0.15 km T ¢ | 3O IR U & Ty & 319 a8 FHgl @182

Options :
1. % 0.45 km O3\



2.+ 0.45 km Jd
3. % 0.30 km Ui&d

4. % 030 kmqd

Question Number : 32 Question Id : 9767558756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Paras and Shyam start walking from the same point. Paras walks 80 m north, then turns west and walks 60 m, then turns to his right and walks 40
m. Shyam walks 40 m west, then turns north and walks 120 m, then turns to his right and walks 90 m. Where is Shyam with respect to Paras
now?

Options :

1. # 120 m west
2. % 110 m west
3. % 120 m east
4.9 110 m east

Question Number : 32 Question Id : 9767558756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR 3R T U &1 fig I T & H3d & | TRY 80 m IR B 3R qald &, fh Uiy o1 3R g3d1 8 3R 60 m I &, fohe IUF a8
3R TS § 3R 40 m T ¢ | T 40 m UFYA P 3R el §, fh IR B1 3R YT § 3R 120 m IaaT 8, R <18 3R YSar g 3R 90 m
T & | 3F URY & &Y H TaTH FHal 82

Options :

1. % 120 m UfgH

2. % 110 m Uf&H

3. % 120mUd

4.4 110mgd

Question Number : 33 Question Id : 9767558757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?






4, %

Question Number : 33 Question Id : 9767558757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iR # § B 0 SR NPT Uy 3B B 4R BT T Pl 82




3. ¢

Question Number : 34 Question Id : 9767558758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third image on the same basis as the second image is related to the first image.

NNV




Options :




Question Number : 34 Question Id : 9767558758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fahed o7 70 B3 o IR B T I ThR I Y&fid g ford TeR T gOst 19 uge a9 Yefed g |

:::: ?

Options :

3.




Question Number : 35 Question Id : 9767558759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing figure in the following matrix.

63 49 ?

99 17 121

135 105 165

Options :
1. % 35
2.9 77
3. % 101
4, % 9]

Question Number : 35 Question Id : 9767558759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Afcew & qu siiweT I1d H |




63 49 ?

99 7 121

135 105 165

Options :
1. % 35
2.9 77
3. % 101
4. % 91

Question Number : 36 Question Id : 9767558760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following options is the wrong figure in the series?

(A) (B) (C) (D)
Options :

1. % A

2.% B

3. % C

4. ¥ D



Question Number : 36 Question Id : 9767558760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o 9 fadwed sRae & 7Tad said |2

(A) (B) (C) (D)
Options :
1. % A
2.% B
3. % C
4. %D

Question Number : 37 Question Id : 9767558761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line MN, then which of the answer figures is the correct mirror image of the given figure?

Options :



L

AN

i




Question Number : 37 Question Id : 9767558761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g TP gUUI DI XM MN TR QT 74T §, Il DI T STR S & 718 3N BT Aal gUUT Hiafed g2

M
¥
¥
Hr
N
Options :
WO
1. =
b
e
X
# # 3
2. %




W W

B

Question Number : 38 Question Id : 9767558762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure patterns can be combined to make the question figure?

Options :



AN



Question Number : 38 Question Id : 9767558762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiRad # § B W@ IR 3pia Ue &1 Uy Mpia 97 & fore Ggad fear s gearg?

Options :




Question Number : 39 Question Id : 9767558763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, four positions of the same dice are given. Which number will be at the face opposite to the face having the number 5?

8 7 9 7

Options :
1. %7
2.% 6
3.8



4. %9

Question Number : 39 Question Id : 9767558763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, T 81 U &) IR fRufaai Y 118 €1 5 T3 91 el & ITH- dTdl Thieldh TR I It e gt

8 7 9 7

Options :
1. %7
2.% 6
3.8
4. %9

Question Number : 40 Question Id : 9767558764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many maximum number of triangles are there in the given question figure?

Options :



1. ® 15
2.% 12
3. % 17
4. % 20

Question Number : 40 Question Id : 9767558764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&S U ST fa B RS & Sifiidan e 1 82

Options :
1. % 15
2.¥ 12
3.% 17
4. % 20
General Awareness1
Group Number : 3
Group Id : 976755217
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awarenessl

Section Id : 976755505
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755606
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9767558765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Kanheri Caves, built by Buddhists, are located in which of the following states?
Options :

1. * Rajasthan

2. % QOdisha

3. ¥ Mabharashtra

4. % Delhi

Question Number : 41 Question Id : 9767558765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



il gR1 Rftfa e T, fafafed # 9 frw s 8§ fRua 3
Options :

1. % SR

2. % anfeEn

3. ¥ HeRIY

4. % fooelt

Question Number : 42 Question Id : 9767558766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following dance forms of Madhya Pradesh is also known as "Harvest Dance"?
Options :

1. % Bhagoria

2. % Jawara

3. # Tertali

4. % Matki

Question Number : 42 Question Id : 9767558766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TR & Fafafed T Ul & 9§ f6d maa Ja" & ©u 7 ft S S g2
Options :

1. % WENRET

2. % S}

3. ® ORIl

4. % HCH

Question Number : 43 Question Id : 9767558767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following folk music evolved among the Goan Catholics of Goa?



Options :

1. ¥ Mando
2. % Maand
3. % Powada

4. ¥ Bhavageete

Question Number : 43 Question Id : 9767558767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed & 3 oF 91 Al Wild TMaT & MeM B & dia [qsRid gam
Options :

1. ¥ gl

2. % HS

3. % giarel

4. % TG

Question Number : 44 Question Id : 9767558768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following built the Vijaya Stambha of Rajasthan?
Options :

1. * Surajmal Singh

2. * Pratap Singh

3. ¥ Sawai Jai Singh

4. ¥ Maharana Kumbha

Question Number : 44 Question Id : 9767558768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefed & 3 feam Iy & fasra T &1 fafor fosar ar

Options :



1. % IR g
2. % yqmu ¥ig

3. % garg o9 Rig
4. ¢ TRV G

Question Number : 45 Question Id : 9767558769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complementary goods have a cross price elasticity.
Options :

1. # infinite

2. % zero

3. ¥ negative

4. % positive

Question Number : 45 Question Id : 9767558769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR TSN | T 3T Heg o B |
Options :

1. % 3Hd

2. % Y

3. ¥ ADRIHD

4, % JHhRIHD

Question Number : 46 Question Id : 9767558770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following banks was inaugurated by Mahatma Gandhi in 1919?
Options :

1. % Union Bank of India



2. % Punjab National Bank
3. # State Bank of India
4. % Central Bank of India

Question Number : 46 Question Id : 9767558770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1919 T HgTe Mieht gR1 Fufeied & ¥ fow d& &1 Igures fasar mar un
Options :

1. ¥ GO 9 S gfean

2. % OIS A dF

3. % YR W dF

4. % I°d dP Th Sfea

Question Number : 47 Question Id : 9767558771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Goods and Services Tax was introduced in in India.
Options :

1. ® 2016

2.9 2017

3. % 2018

4. % 2019

Question Number : 47 Question Id : 9767558771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¥ Ud a1 X YRA F ERNICRIRIUIRI T
Options :

1. % 2016

2.9 2017



3. % 2018
4. % 2019

Question Number : 48 Question Id : 9767558772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Economic Survey 2020-21, India's real GDP growth is estimated to contract by in financial year 2020-2021.
Options :

1. # 9 percent

2. # 4.5 percent

3. % 11 percent

4. ¥ 7.7 percent

Question Number : 48 Question Id : 9767558772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3MTffeb Hei&iur 2020-21 P IR, faxiia ay 20202021 H YR B! aRkiide GDP Jhss 9 3gafed §F BT 3gHM B |
Options :

1. % o yfrd

2. % 4.5 gfa=rd

3. % 11 gfa=d

4. 7.7 9fa=d

Question Number : 49 Question Id : 9767558773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following components is not taken into account while calculating national income by expenditure method?
Options :

1. # Government expenditure

2. % Purchase of shares and bonds

3. # Household consumption



4. # Investment expenditure

Question Number : 49 Question Id : 9767558773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g At gRT AT S Y 0T Rl THY Fafefad # ¥ o ges W e =81 g o 82
Options :

1. % DRI Y

2. ¢ TR 3R 18 BT Wil

3. % TR SUHNT

4. % Fdg ™

Question Number : 50 Question Id : 9767558774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the SI unit of energy?

Options :

1. ¥ Newton

2. ¥ Joule

3. % Ampere

4. ¥ Mole

Question Number : 50 Question Id : 9767558774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sl BT SI DTS FT 57

Options :

1. % Ygcd

2. ¥ 9d

3. % URRR

4. % Oid



Question Number : 51 Question Id : 9767558775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following national parks is not located in West Bengal?
Options :

1. #* Buxa Tiger Reserve

2. # Gorumara National Park

3. # Jaldapara National Park

4. ¢ Kanha National Park

Question Number : 51 Question Id : 9767558775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & @ S a1 gk 3o uftm sme 8 fRyd 781 32
Options :

1. % gRT TR Rord

2. % TIPHRI IS IH

3. % SefTuTST AP e

4. ¥ BT T I&M

Question Number : 52 Question Id : 9767558776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The members of chlorophyceae are commonly called which of the following algaes?
Options :

1. % red

2. % blue

3. ¥ green

4. % brown

Question Number : 52 Question Id : 9767558776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

FARIBTSRIS & Y& &) ATHAR WR FHgferiad & T o9 I1 Aard Hel Sl 82
Options :
1. % &
2. % =t
3. ¢
4. %3

Question Number : 53 Question Id : 9767558777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following phyla is also known as sea walnuts?
Options :

1. % Platyhelminthes

2. ¥ Ctenophora

3. % Porifera

4. % Coelenterata

Question Number : 53 Question Id : 9767558777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafifea § 3 frg T &) T SRRl (It diete) 3 AW J +f S o 82
Options :

1. % widlgfemiie

2. ¢ CHIBRI

3. % ORI

4. % Hideel

Question Number : 54 Question Id : 9767558778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which among the following is an example of kharif crop?
Options :

1. ¥ Maize

2. % Wheat

3. % Watermelon

4. % Almond

Question Number : 54 Question Id : 9767558778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfed & 9 319 W% 31 U 31 U QT8R0T 52
Options :

1. ¥ Hdd[

2. % g

3. % ql

4. ® dlqlH

Question Number : 55 Question Id : 9767558779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following states is also known as "Orchid State of India"?
Options :

1. # Tamil Nadu

2. % Madhya Pradesh

3. % Arunachal Pradesh

4. ¥ Andhra Pradesh

Question Number : 55 Question Id : 9767558779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 9 f5g Isg &1 "HRd &1 3 e I8 & =0 | Ht ST ST 82




Options :

1. % T g

2. % I U

3. ¢ 3RS TR
4. % Y

Question Number : 56 Question Id : 9767558780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following soils is also known as '"Usara soils'?
Options :

1. # Arid

2. % Laterite

3. % Alluvial

4. ¥ Saline

Question Number : 56 Question Id : 9767558780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & 9 ford gar &1 SR gar & 71 9 Hf ST 571 82
Options :

1. ® [Ch

2. ¥ TRIZE

3. % Tdlg

4, Fquiyg

Question Number : 57 Question Id : 9767558781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following rivers is also known as 'Puranik River'?
Options :



1. ¥ Indus
2. % Ganga
3. # Yamuna

4. ¥ Brahmaputra

Question Number : 57 Question Id : 9767558781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafag afeal & 9 ford qRifdre et & 9 J ot ST ST 82

Options :
1. ¢ Ry
2. % T
3. % Il
4. % oglyd

Question Number : 58 Question Id : 9767558782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kalsubai is the highest peak of which of the following states?
Options :

1. # Odisha

2. ¥ Mabharashtra

3. # West Bengal

4. ¥ Tamil Nadu

Question Number : 58 Question Id : 9767558782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HAgSTs Mafad H J by Iy @) gafa At 82
Options :

1. % 3nfgam



2. ¥ HERTY
3. % giYw §ma

4. % A TG

Question Number : 59 Question Id : 9767558783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first session of Indian National Congress to be presided by a lady was held in
Options :

1. * 1929

2. % 1888

3. ¥ 1917

4. % 1920

Question Number : 59 Question Id : 9767558783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ue Higdl GRT A&l $1 S dTell HRT AP HIUY BT Uga HUa=e ST fomam |
Options :

1. % 1929

2. % 1888

3.¥ 1917

4. % 1920

Question Number : 60 Question Id : 9767558784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following vedas is concerned with warfare?
Options :

1. ¥ Dhanurveda

2. % Gandharva Veda

3. #® Rigveda



4. % Ayurveda

Question Number : 60 Question Id : 9767558784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafefed 3¢l § @ 1F gg § gefta 82

Options :

1. ¢ 4gdg
2. % Tiyd dg
3. % g
4. % SMgAT

General Awareness2

Group Number : 4

Group Id : 976755218
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness2

Section Id : 976755506
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755607
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9767558785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Captain Hawkins and Sir Thomas Roe visited the court of
Options :

1. * Humayun

2. ¥ Jahangir

3. #* Shah Jahan

4. % Aurangzeb

Question Number : 61 Question Id : 9767558785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P BT 3R W AT A & ~TITeR BT GRT e |
Options :

1. % gy

2. ¥ TEIIR

3. % G &6

4. % RO

Question Number : 62 Question Id : 9767558786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Second battle of Tarain fought?
Options :



1. % 1218
2. % 1156
3. % 1210
4. 1192

Question Number : 62 Question Id : 9767558786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARIRT DT g Yoz Dol <TST T UT?
Options :

1. % 1218

2. % 1156

3. % 1210

4. 1192

Question Number : 63 Question Id : 9767558787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was known as "The Political Guru of Mahatma Gandhi"?
Options :

1. ¥ Dadabhai Naoroji

2. % Bal Gangadhar Tilak

3. % Gopal Krishna Gokhale

4. # Jawaharlal Nehru

Question Number : 63 Question Id : 9767558787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad & 9 fod agra it & e-ifde T & =0 & ST SIrdr o1?
Options :

1. #® TIGTHTS ARSI




2. % g1 MR fads
3.« MU ST R
4. % SAEIATd g

Question Number : 64 Question Id : 9767558788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was often called as "the first empire builder of Indian history”?
Options :

1. ¥ Mahapadma

2. % Dhana Nanda

3. ¥ Chandragupta Maurya

4. % Ashoka

Question Number : 64 Question Id : 9767558788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol § 3 ford SRR "HRA SfaeTd &1 g Jrured Fidr &gl Sl um
Options :

1. ¢ HglUs]

2. % YAMG

3. % T A

4. % 3

Question Number : 65 Question Id : 9767558789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following wrote the Bengali song "Vande Mataram"?
Options :

1. ¥ Bankim Chandra Chatterjee

2. # Rabindranath Tagore



3. # Bal Gangadhar Tilak
4. % Subhas Chandra Bose

Question Number : 65 Question Id : 9767558789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafead # & fooea smeft wiid rave Ao feram
Options :

1. ¢ SfbH T Tt

2. % gAY SR

3. % §ef TR fered

4. % UM I 919

Question Number : 66 Question Id : 9767558790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the Chief Minister of Rajasthan as of March 20217
Options :

1. # Biplab Kumar Deb

2. ¥ Ashok Gehlot

3. # Trivendra Singh Rawat

4. % Naveen Patnaik

Question Number : 66 Question Id : 9767558790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 2021 TF IUAH THBRT & SHR AT & TgHA DI 82
Options :

1. % fe $UR 9

2. ¢ 3T Tl

3. % fdw= Rig ad



4. % 4 JeAa®h

Question Number : 67 Question Id : 9767558791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the author of 'To Kill a Mockingbird'?
Options :

1. # Arthur Conan Doyle

2. % Agatha Christie

3. % Harper Lee

4. # Ernest Hemingway

Question Number : 67 Question Id : 9767558791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e ¥ ¥ o ¢ frd of AffdTas &1 o 32
Options :

1. % MR B SAd

2. % 3Ty fob

3. ¢ IRl

4. % 3 gftid

Question Number : 68 Question Id : 9767558792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Pritzker Prize is awarded for the achievement in the field of

Options :

1. # mathematics
2. * literature

3. % music

4. % architecture



Question Number : 68 Question Id : 9767558792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

F &7 H Iuafsd & fore fUsas urse fear Siar g |

Options :

1. % Tford

2. % 9Ifgd

3. % gt

4. ¢ TRGHA (3MfheaR)

Question Number : 69 Question Id : 9767558793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the Oscars 2020 for "Actress in a Supporting Role"?
Options :

1. ¥ Laura Dern

2. # Kathy Bates

3. # Scarlett Johansson

4. ¥ Margot Robbie

Question Number : 69 Question Id : 9767558793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAafeRad O 3 fogm g YifreT & Sfimat & forg 3w 2020 Sidm
Options :

1. ¥ ARTSA

2. % Hft 9y

3. % WpIIC S

4. % AW




Question Number : 70 Question Id : 9767558794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following books is not written by Rudyard Kipling?
Options :

1. * The Jungle Book

2. # In Black and White

3. # Under the Deodars

4. ¥ Midnight's Children

Question Number : 70 Question Id : 9767558794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & @ & I fvare vsars feufed gr1 8! o g2
Options :

1. % S g

2. % g0 U8 d1ge

3. % 3T I3AR

4. ¢ Torege faeg

Question Number : 71 Question Id : 9767558795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The concept of 'Judicial Review' in the Indian Constitution has been borrowed from the constitution of which of the following countries?
Options :

1. # Japan

2. % Australia

3. ¥ United States of America

4. # United Kingdom

Question Number : 71 Question Id : 9767558795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

YR Tfaem & =aiie TRIgde" &1 sayRon Hufafed § § fad oxr & Ifqu 9 YR &t 718 82
Options :

1. % UM

2. % fiReferar

3. « I T ARBT

4. % g3CS fhi1ey

Question Number : 72 Question Id : 9767558796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 91st Constitutional Amendment restricted the size of council of ministers to of legislative members.
Options :

1. ¥ 15 percent

2. % 10 percent

3. % 20 percent

4. % 18 percent

Question Number : 72 Question Id : 9767558796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

913 HayTe T=Med A faemae! & de HATT o1 uRwg o AT o1 Ufdsierd o fear|
Options :

1. ¢ 15 Ufa=rd

2. % 10 Ufa=rd

3. % 20 Ufd=rd

4. % 183 Ufa=rd

Question Number : 73 Question Id : 9767558797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who among the following is recognised as the "Father of the Constitution of India"?
Options :

1. % Rajendra Prasad

2. % Jawaharlal Nehru

3. ¥ B. R. Ambedkar

4. % Sachchidananda Sinha

Question Number : 73 Question Id : 9767558797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ f5a "yRd & e & SHe" & =0 & J=adl U g2
Options :

1. % oI UG

2. % JAERAd A%

3. ¢ & 3R, TSI

4. % glerer- R

Question Number : 74 Question Id : 9767558798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 48th Constitutional Amendment facilitated the extension of President’s rule in beyond one year without meeting the two
special conditions for such extension.

Options :

1. % Assam
2. ¥ Punjab
3. % Sikkim
4. ¥ Mizoram

Question Number : 74 Question Id : 9767558798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

483 FaYT-ep T=Mer 3 H YUl I o fAdR-85 1 Ueb 9N A 31 & 7T Jore ST S8 39 avE o faedR-49 & ferg &




{1y 27l &1 QR 76T fovam T Tl
Options :

1. % 3 ¥

2. ¥ U9d

3. % fdpy

4. % fOIRH

Question Number : 75 Question Id : 9767558799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Constitutional Amendments included the Tamil Nadu Reservation Act of 1994 in the 9th Schedule to protect it from
judicial review?

Options :
]. % 7pnd
2. % g5th
3. ¢ 76t
4. % goth

Question Number : 75 Question Id : 9767558799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁ!ﬁf@ﬁﬁﬂ%@ﬁﬁﬁ@rmﬁwﬁqv IRIGAD I F9 o (oY A0 TG SREUT TR, 1994 &Y ArdT St & [
?

Options :
1. % 72d
2. % 650
3. ¢ 764
4. % 89d

Question Number : 76 Question Id : 9767558800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The All-India Football Federation has announced that will host the Indian Women’s League (IWL) 2020-2021.
Options :

1. # West Bengal

2. ¥ QOdisha

3. ¥ Maharashtra

4. % Tamil Nadu

Question Number : 76 Question Id : 9767558800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Rae URATT Pedla ARy = Oy &1 ¢ fh SET gH=T @NT IWL) 2020-2021 Ht ASTEFT BT
Options :

1. % UiyH §Te

2.« 3nfeEn

3. % HeRTY

4. % g g

Question Number : 77 Question Id : 9767558801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the first cricket player to be awarded the Arjuna Award?
Options :

1. ¥ Salim Durani

2. % Mansoor Ali Khan Pataudi

3. % Vijay Manjrekar

4. # Chandu Borde

Question Number : 77 Question Id : 9767558801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafifed & ¥ B 3 [RDBR I FHAIId g arell Ugal hobe e 82



Options :

1. ¢ qolH gl

2. % TR 3l W udiet
3. % oo Ao

4. % gg e

Question Number : 78 Question Id : 9767558802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following teams won the first edition of Merdeka Tournament in 19577
Options :

1. # Indonesia

2. % Hong Kong

3. % Singapore

4. # South Vietnam

Question Number : 78 Question Id : 9767558802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 frg S A 1957 § HS @1 A &I U8l WhRUl Sidl?
Options :

1. % SSIARM

2. ¢ BRI BIT

3. % fHMR

4, % feoft fagdm

Question Number : 79 Question Id : 9767558803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ronjan Sodhi won the Rajiv Gandhi Khel Ratna in 2012 for his contribution in the field of
Options :




1. * hockey
2. ® wrestling
3. ¥ tennis

4. ¥ shooting

Question Number : 79 Question Id : 9767558803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S Figt A & &F H I NG & g 2012 H Iroiia Mieht Wal Id S|

Question Number : 80 Question Id : 9767558804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following cricket stadiums is not located in South Africa?
Options :

1. # Centurion Park

2. # Kingsmead Stadium

3. % Sophia Gardens

4. % Willowmoore Park

Question Number : 80 Question Id : 9767558804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafafed frae wiegdl o 9 &1H a1 afamn sipier d fyd 751 82

Options :

1. % AgRT Ut



2. % fhgre Rfean
3.« Qb Mg
4. % IR UTh

Arithmetic Abilityl

Group Number : 5

Group Id : 976755219
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetical and Numerical ability1

Section Id : 976755507
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755608
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9767558805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following numbers will leave a remainder 1 when divided by 7, 2 and 11?
Options :

1. ¥ 155

2. % 157

3. % 156

4. % 154

Question Number : 81 Question Id : 9767558805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad § ¥ o O 9 og 7, 2 iR 11 3 fauifora gt 8§ & Ivwd 1 Bt
Options :

1. ¥ 155

2. % 157

3. % 156

4. % 154

Question Number : 82 Question Id : 9767558806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A number 'x' on dividing 115, 138 and 191 leaves remainder of 3, 5 and 2 respectively. What is the value of 'x'?
Options :

l.* 6

2.¥7

3. % 1

4.%9

Question Number : 82 Question Id : 9767558806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TBAT'x' 115, 138 3R 191 BT FAHTRTT B1 W HHT: 3, 5 3R 2 ATHA BSdl g1 'x' BT A HT 82



Options :
1. % 6
2.9 7
3. % 1
4. %9

Question Number : 83 Question Id : 9767558807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are three numbers 116, 135 and 211. What is the largest possible number which divides them leaving the same remainder in each case?
Options :

1. %7

2.% 6

3.4 19

4. % 11

Question Number : 83 Question Id : 9767558807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dH =TT 116, 135 3R 211 €1 I ISt GHITIT BT T 8 O I FAHTRIT 1 R vdss fRUfa & g0 Quwd sisd 82
Options :

1. %7

2.% 6

3.419

4. % 11

Question Number : 84 Question Id : 9767558808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five light buttons blink at the interval of 6 s, 7 s, 8 s, 2 s, 3 s respectively. If they start blinking together, then how many times would they have
blinked together in an hour?

Options :



1. #= 18
2.% 24
3.% 20
4,4 22

Question Number : 84 Question Id : 9767558808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

;qud%'éc ScH U 65,75, 85,25, 3 s P 3fRTA R AYSIA g | TS I TP 1Y FUHT Y& HRd 8, a1 U °e H fha-l IR 3 T 1Y
)

Options :

1. % 18

2. % 24

3. % 20

4.9 22

Question Number : 85 Question Id : 9767558809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The LCM of 16/25 and 5/18 is how many times its HCF?
Options :

1. ¥ 36000

2. % 6000

3. % 44

4. % 60

Question Number : 85 Question Id : 9767558809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

16/25 3MR 5/18 BT NE JHIGA D 3D HedH JHYGAS BT fdaHT -l W%"
Options :

1. ¥ 36000




2. % 6000
3. % 44
4. % 60

Question Number : 86 Question Id : 9767558810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are two numbers whose sum is 230. If the numbers are in the ratio 3 : 7, then find the their LCM?
Options :

1. % 263

2. % 161

3. % 1449

4. ¥ 483

Question Number : 86 Question Id : 9767558810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& =Tt § foHa1 v 230 €1 af TReATE 3 ¢ 7 9 U H 6, Al 3] TgaH JHIAAS J1d BN 2
Options :

1. % 263

2. % 161

3. % 1449

4.9 483

Question Number : 87 Question Id : 9767558811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C and D receive Rs. 100, Rs, 150, Rs, 80 and Rs. 70 respectively as lunch money everyday. What is the average lunch money that they get?
Options :

1. ¥ Rs. 100

2. % Rs. 86

3. ¥ Rs. 120



4. % Rs. 70

Question Number : 87 Question Id : 9767558811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C 3R D HHTT: 100 BT, 150 BUT, 80 YT 3R 70 ST Ufdfe GUgR & HISH & U8 & U H U HRd g | I He a1dl augl &b
e & UG BT 3Nd 122

Options :

1. ¥ 100 ®UQ
2. % 86247
3. % 120®4¢
4. % 70%47

Question Number : 88 Question Id : 9767558812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average marks of five boys in class was 80. But later it was found that one of the boys marks which was 90 was wrongly written as 60. What
is the correct average?

Options :
1. ® 80
2.9 86
3. % 85
4. % 90

Question Number : 88 Question Id : 9767558812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Zﬁﬁ&gﬁﬁfﬁ%ﬂw [ & ST 3ih 80 Y| Afcs S1e & Ig T 711 fob I TS el H A U b i Sl 90 &, g el ¥ 60 for faw 7w | wgt
R 8?

Options :

1. # 80

2.9 86



3. % 85
4. % 90

Question Number : 89 Question Id : 9767558813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An item was sold at Rs. 722.5 after two successive discounts of 15 percent. What would be the selling price if two successive discounts of 20
percent were applied instead?

Options :

1. % Rs. 580
2. % Rs. 720
3. ¥ Rs. 640
4. % Rs. 680

Question Number : 89 Question Id : 9767558813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 9% P! 15 UfIId B < HH e & 91& 722.5 0T H S0 7 411 fE §6b S&ed H 20 Y= Bt & shfHiep gel i ar fopar sire ot
[deb g Hed T gIdl?

Options :

1. % 580 ®UU

2. % 720%4UUQ

3. ¥ 64047

4. % 680%UUl

Question Number : 90 Question Id : 9767558814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a company, 25 employees were laid off in April and another 300 in the next month. If initially there were total 1000 employees, then what
percent of the employees were laid off?

Options :
1. % 35



2. % 30
3. % 45
4.9 325

Question Number : 90 Question Id : 9767558814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HUAT A, 25 HHATREG! B1 30 § Ferar T 3R 3T 7= H 300 & fHesTan T o071 i == B $d 1000 HHART A, F fvaa wfawra
HHATR! 1 f¥ebTel T Y12

Options :

1. % 35

2. % 30

3. % 45

4. ¥ 325

Question Number : 91 Question Id : 9767558815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A father distributed Rs. 15000 among his sons A and B in the ratio 2 : 3. But B gave away 20 percent of his share to his younger sister. What is
the amount that is left with B now?

Options :

1. ¥ Rs. 7200
2. % Rs. 8000
3. % Rs. 9600
4. % Rs. 3600

Question Number : 91 Question Id : 9767558815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS U1 3% aci A 3R B & &g 2 : 3 % 3T H 15000 Y fIaRd fhu| Afds1 B 7 3o iR &7 20 Tfard ot it Sg &l ¢
f&aT| 3@ B & U forait M =i 32

Options :



1. ¥ 7200 ¥UU
2. % 8000 ®UU

3. % 9600 ®UUY
4. % 3600 24U

Question Number : 92 Question Id : 9767558816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arun had some money with which he could buy either fifteen chocolates or five notebooks. He decided to put away 12 percent of it for himself.
What is the maximum number of notebooks that he can buy with the remaining amount?

Options :
1. %5
2.9 4
3.% 6
4, % 3

Question Number : 92 Question Id : 9767558816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3101 & TN $& U 3 Fora) a8 a1 ot USg didbic a1 Uid Alcged BRI Aol dT| I8 SHHT 12 Uia=id W & forg e o1 oty ferm
Wﬁmmw%sﬁa@ﬁqw&rﬁaﬂaw%

Options :

1. %5

2.9 4

3.% 6

4. %3

Question Number : 93 Question Id : 9767558817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Suman bought 30 kg flour at Rs. 1200. He decided to sell the flour at Rs 52 per kg. What is the percentage of profit he will earn?
Options :



1. * 25
2. % 32
3. % 28
4. % 30

Question Number : 93 Question Id : 9767558817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 1200 TAT H 30 kg T WRIGT| ST 31T 52 ¥UT Ul kg & s9- &1 (g feran| ag foram ufara @ sifsia s
Options :

1. * 25

2. % 32

3. % 28

4. % 30

Question Number : 94 Question Id : 9767558818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Newton bought an old bike for Rs. 2000 and repaired it by spending Rs. 500. For how much must he sell the bike to earn a profit of 30 percent?
Options :

1. ¥ Rs. 3250

2. % Rs. 3000

3. % Rs. 4500

4. % Rs. 4200

Question Number : 94 Question Id : 9767558818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gz%gowﬁwmmmsﬁwoo Y T FRh 3P AT D1 | 30 YA BT ATH UTe = & fold 3 a8 b o
?

Options :
1. % 3250 %UU



2. % 3000 %4
3. % 4500 %UU
4. % 4200 24U

Question Number : 95 Question Id : 9767558819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On selling two items each at Rs 1250, the trader makes an overall profit of 25 percent. If the cost price of one item was Rs. 900, what was the
cost price of the other?

Options :

1. # Rs. 1000
2. % Rs. 1100
3. ¥ Rs. 1200
4. % Rs. 1250

Question Number : 95 Question Id : 9767558819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 1250 ST H & I S WR, SURY 25 ARG 1 THY T4 AT BT 8 | IfS U g B AT He 900 TUT &, <Y S8R BT AN
T |7 U1

Options :

1. % 1000 ¥UY

2.+ 1100 ¥UY

3. % 1200 ¥UT

4. % 1250 34T

Question Number : 96 Question Id : 9767558820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mahesh sold his cycle for Rs 10080 after marking up the price by 40 percent. What was the cost price if he sold it after giving 20 percent
discount on the marked price?

Options :



1. # Rs. 8500
2. % Rs. 7500
3. ¥ Rs. 9000
4. * Rs. 8000

Question Number : 96 Question Id : 9767558820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TeR H 40 Uia=d ¥ 3% ged fifgd &3 & a1 310+ Argfdd &1 10080 ¥UT H &7 ¢l | Ife 39 FIftd T R 20 UfaRId Hl g e &
§1E Y o1 IaT dl ART oo ol 1?2

Options :

1. % 8500 %UU

2. % 7500 %4y

3. % 9000 ¥UUQ

4. % 8000 ®¥UU

Question Number : 97 Question Id : 9767558821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What must be added to 17/21 to make it equal to the ratio to 38 : 21?
Options :

1. % 1.2

2.% 3

3.%2

4.+ 1

Question Number : 97 Question Id : 9767558821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

17/21 § 1 SIS S 91T difch 39 38 : 21 & U b SRISR ST ST Jb?

Options :




1. * 1.2
2.%3
3.%2
4.+ 1

Question Number : 98 Question Id : 9767558822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of sugar and salt in a mixture is 5 : 6. After addition of 500 grams sugar the ratio changes to 7 : 8. What is the quantity of salt in the new
mixture?

Options :

1. ®* 10.5kg
2. % 10kg
3.¥ 12 kg
4. % 12.5kg

Question Number : 98 Question Id : 9767558822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ®* 10.5kg

2. % 10kg

3.¥ 12 kg

4. % 12.5kg

Question Number : 99 Question Id : 9767558823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Salim mixes two types of milk which are 5 percent and 10 percent diluted respectively in the ratio 3 : 2. What is the concentration of milk in the
resultant mixture in percentage?

Options :



1. = 71
2.¥93
3. % 80
4. % 95

Question Number : 99 Question Id : 9767558823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * 71

2.903

3. % 80

4. % 95

Question Number : 100 Question Id : 9767558824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 75500 was borrowed at 10 percent compound interest p.a. What is the amount payable after 2 years?
Options :

1. ¥ Rs. 81000

2. % Rs. 91570

3. % Rs. 81355

4. ¥ Rs. 91355

Question Number : 100 Question Id : 9767558824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 81000 ®>UU



2. % 91570 ®UU

3. % 81355%UU
4. % 913559407
Arithmetic Ability2

Group Number : 6
Group Id : 976755220
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetical and Numerical ability2
Section Id : 976755508
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755609
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9767558825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Meena took a loan of Rs 8000 at 20 percent per annum compound interest compounded semi annually. She repaid the loan after two years. Had
she repaid the loan after a year, how much money she could have saved?

Options :

1. % Rs. 2800.8
2. % Rs. 3505.5
3. ¥ Rs. 2032.8
4. % Rs.2300.2

Question Number : 101 Question Id : 9767558825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 2800.8 ¥UU
2. % 3505.5%UC¢
3.9 2032.8 %UUQ
4. % 2300.2%UC¢

Question Number : 102 Question Id : 9767558826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sam lent a sum of money at simple interest which amounted to Rs. 9800 in four years and the interest that he earned was Rs. 2800. Had he lent it
at compound interest compounded annually for the same time and at same rate, what would be the amount at the end of four years?

Options :

1. ¥ Rs. 10248.7
2. # Rs. 12000.9
3. ¥ Rs. 10000.5
4. % Rs. 10500.6

Question Number : 102 Question Id : 9767558826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 10248.7 34U
2. % 12000.9 *UU¢
3. % 10000.5 ®UU
4. % 10500.6 ¥UU

Question Number : 103 Question Id : 9767558827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sia was able to run a race of 500 m in 5 minutes. What is her speed in kmph?
Options :

1. %5

2.6

3.% 4

4. % 45

Question Number : 103 Question Id : 9767558827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R 500 m P13 5 e # s Iaoct R kmph & ITH! 71 1 32
Options :

1. %5

2.¥6

3.% 4

4. % 45

Question Number : 104 Question Id : 9767558828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A train is 120 m long and travels at the speed of 54 kmph. How long will it take for the train to cross a platform of 150 m in minutes?
Options :

1. %09

2.% 04

3.403

4. % 0.5

Question Number : 104 Question Id : 9767558828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * 0.9

2.% 04

3.03

4. % 0.5

Question Number : 105 Question Id : 9767558829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The speed of boat upstream is 5 kmph. Its speed in still water is 10 kmph. How many minutes will it take to row 25 km downstream?
Options :

1. % 100

2. % 120

3. %90

4. % 85

Question Number : 105 Question Id : 9767558829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ 100
2. % 120
3. % 90
4. % 85

Question Number : 106 Question Id : 9767558830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sumi can complete a job working 5 hours per day in 2 days. If she doubles her working hours per day, then in how many days will she complete
the work?

Options :
l.* 3
2. % 4
3.¢ 1
4. % 1.5

Question Number : 106 Question Id : 9767558830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. %3
2. % 4
3.¢1
4. % 1.5

Question Number : 107 Question Id : 9767558831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A can complete a work in 5 days. B can complete the same in 10 days. If B assists A every alternate day starting from the first day in how many



days the work will be completed?
Options :

1. % 1

2.% 2

3.% 3

4.9 4

Question Number : 107 Question Id : 9767558831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1

2. %2

3. %3

4.9 4

Question Number : 108 Question Id : 9767558832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man can paint a house working everyday in 20 days. He decided to take a break for 1 day after every 4 days. In how many days will he
complete the work now?

Options :
1.9 24
2. % 25
3. % 30
4. % 40

Question Number : 108 Question Id : 9767558832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 24

2. % 25

3. % 30

4. % 40

Question Number : 109 Question Id : 9767558833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man and a woman can do a work together in 12 days. Their efficiencies are in the ratio 2 : 3. Working alone, in how many days can the woman
complete the work?

Options :
1. ¥ 20
2. % 30
3.% 10
4. % 15

Question Number : 109 Question Id : 9767558833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 20

2. %30

3.% 10

4. % 15

Question Number : 110 Question Id : 9767558834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the curved surface area of a hemisphere of radius 28 cm?
Options :

1. # 4900 sq cm

2. % 4928 sq cm

3. % 5000 sq cm

4. % 4928.56 sq cm

Question Number : 110 Question Id : 9767558834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

28 om AT & 37EfTIc] BT ach Y¥TT 80 d 1 62
Options :

1. * 4900 sq cm

2. % 4928 sq cm

3. % 5000 sq cm

4. ¥ 4928.56 sq cm

Question Number : 111 Question Id : 9767558835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the area of the base of a cone of radius 35 cm in square metres?
Options :

1. #* 0.395

2.% 04

3.%03

4.4 0.385

Question Number : 111 Question Id : 9767558835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. #* 0.395
2.% 04
3.% 03
4.+ 0.385

Question Number : 112 Question Id : 9767558836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A hollow metal sphere is of radius 5 m and thickness 20 cm. What is the approximate volume of metal required to make the sphere?
Options :

I. % 55cum

2. % 58 cum

3.% 6038 cum

4. % 6l cum

Question Number : 112 Question Id : 9767558836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 55cum

2. % 58 cum

3.9 60.38 cum

4. % 6]l cum

Question Number : 113 Question Id : 9767558837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cone of radius 3 cm is mounted on the base of a hemisphere of radius 7 cm. The height of the cone is twice the height of hemisphere. What is
the resulting volume of the solid?

Options :



1. # 750.85 cu cm
2. ¥ 850.67 cucm
3. % 900.01 cu cm
4. % 805.69 cu cm

Question Number : 113 Question Id : 9767558837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 750.85 cu cm

2. % 850.67 cucm

3. % 900.01 cu cm

4. % 805.69 cu cm

Question Number : 114 Question Id : 9767558838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table shows the numbers of cars sold by 4 different companies in the year 2019. What is the total number of cars sold by these 4
companies in 2019?

Company | Numbers
Hyundai 2500
Ford 4500
MNissan 3500
Tata 3800
Options :
1. # 16050
2. % 10500
3. % 14000

4. % 14300



Question Number : 114 Question Id : 9767558838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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AT e
g% 2500
B 4500

e 3500
cIcl 3800

Options :

1. % 16050

2. % 10500

3. #* 14000
4. % 14300

Question Number : 115 Question Id : 9767558839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart shows the number of students and the class obtained by them in their exams. What percent of the students secured second class or
above?



Distribution of students

Options :
1. % 55
2. % 60
3.¥ 75
4. % 80

Question Number : 115 Question Id : 9767558839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ® 55
2. % 60
3.¥75
4. % 80

Question Number : 116 Question Id : 9767558840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table shows the monthly expenditure of Saumya. What percent of her monthly salary is she able to save?

Expense Amount
Food 5000
Rent 20000

Travel 10000

Clothing 3000

Miscellanous 15000
Saving 7500

Options :



1. * 20
2.¥ 124
3. % 15
4. % 18

Question Number : 116 Question Id : 9767558840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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=g IR
hce 5000
e 20000
qrET 10000
FUS 3000
fafeu 15000
ITd 7500
Options :
1. % 20
2.% 124
3.% 15
4. % 18

Question Number : 117 Question Id : 9767558841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following bar graph shows the population of a village for five consecutive years. What is the average population of all the five years?
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Options :
1. % 680
2. % 750
3. % 800
4. ¥ 810

Question Number : 117 Question Id : 9767558841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 680
2. % 750
3. % 800
4. ¥ 810

Question Number : 118 Question Id : 9767558842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following graph shows the monthly salary of Alice over four years. What is the percentage growth in salary that she has seen from year one
to year four?
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Options :
1. ¥ 30
2. % 45
3.4 60
4, ® 75

Question Number : 118 Question Id : 9767558842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 30
2. % 45
3. ¥ 60
4. % 75

Question Number : 119 Question Id : 9767558843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following graph shows the marks of the science and math exam of 4 students, A, B, C and D. Who had the highest average of math and
science marks?



B Science = Math

120

100

Marks of the science and math exam
3

Students

Options :
1. % A
2. % B
3.¢¥C
4. %D

Question Number : 119 Question Id : 9767558843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % A
2.% B
3.¥C
4. %D

Question Number : 120 Question Id : 9767558844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The graph below shows the sales of companies X, Y and Z for two consecutive years. What is the lowest percentage growth a company has seen
for the two given years?
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Options :
1. % 10.33
2. % 25
3. % 3333
4.9 4

Question Number : 120 Question Id : 9767558844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=1 feam A I TTTaR &) ant & fo X, v 3R z dufl o) et & awifar g1 fau e G anf & forw Ue Ut gRT 3l 1S Ied A
yfa=rd gfa a1 82



w2018 = 2019
12000
10000
E 10000
qg 2000 7500
000
6000 5000 5200 4500
4000
T 2000
o
X Y Z
Options :
1. ¥ 10.33
2. % 25
3. % 3333
4.¥ 4
General English1
Group Number : 7
Group Id : 976755221
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No



English Language & Comprehensionl

Section Id : 976755509
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755610
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9767558845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. * In an unexpected turn of events,

2. % the president has announced

3. ¢ his resignation with the office today.
4. # No error

Question Number : 121 Question Id : 9767558845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :
1. * In an unexpected turn of events,
2. % the president has announced

3. % his resignation with the office today.



4. % No error

Question Number : 122 Question Id : 9767558846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. ¥ The dates allotted last week for the re-examination have had caused

2. # an uproar amongst the students as

3. # they are on the same dates as some other entrance exams.

4. ® No Error

Question Number : 122 Question Id : 9767558846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. ¥ The dates allotted last week for the re-examination have had caused

2. # an uproar amongst the students as

3. # they are on the same dates as some other entrance exams.

4. ® No Error

Question Number : 123 Question Id : 9767558847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. # Neither did the authorities warn

2. % the state heads nor did they



3. ¥ ensured necessary quarantine measures.

4. % No error

Question Number : 123 Question Id : 9767558847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. # Neither did the authorities warn

2. # the state heads nor did they

3. ¥ ensured necessary quarantine measures.

4. % No error

Question Number : 124 Question Id : 9767558848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. # His recovery from the final stage

2. % of cancer is being hailed as the

3. % miracle in the world of medicine.

4. % No error

Question Number : 124 Question Id : 9767558848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. # His recovery from the final stage

2. % of cancer is being hailed as the



3. % miracle in the world of medicine.

4. % No error

Question Number : 125 Question Id : 9767558849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. ¥ Except for Joseph and I,

2. % everyone else seemed thoroughly

3. # convinced with the plan.

4. % No Error

Question Number : 125 Question Id : 9767558849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Options :

1. ¥ Except for Joseph and I,

2. % everyone else seemed thoroughly

3. # convinced with the plan.

4. % No Error

Question Number : 126 Question Id : 9767558850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The (weather conditions on that day was) dubious at best, so we decided to travel at a later date.
Options :



1. # weather conditions during the day were
2. ¥ weather condition on that day was
3. # weather condition on that day were

4. ® No correction required

Question Number : 126 Question Id : 9767558850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The (weather conditions on that day was) dubious at best, so we decided to travel at a later date.
Options :

1. ® weather conditions during the day were

2. % weather condition on that day was

3. ® weather condition on that day were

4. ® No correction required

Question Number : 127 Question Id : 9767558851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

A new computer (virus the fastest spreading ever was) this week making the rounds among unprotected computers running on Microsoft
Windows.

Options :

1. ¥ virus, the fastest spreading ever was
2. ¥ virus, the fastest spreading ever, was
3. # virus the fastest spreading ever, was

4. % No correction required

Question Number : 127 Question Id : 9767558851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

A new computer (virus the fastest spreading ever was) this week making the rounds among unprotected computers running on Microsoft
Windows.

Options :

1. % virus, the fastest spreading ever was
2. ¥ virus, the fastest spreading ever, was
3. # virus the fastest spreading ever, was

4. # No correction required

Question Number : 128 Question Id : 9767558852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Last year alone more than 34 billion U.S. (dollars were raised worldwide through crowdfunding).
Options :

1. # dollar were raised worldwide through crowdfunding.

2. # dollars were raized worldwide by crowd funding.

3. ¥ dollars was raised worldwide through crowdfunding

4. # No correction required

Question Number : 128 Question Id : 9767558852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Last year alone more than 34 billion U.S. (dollars were raised worldwide through crowdfunding).
Options :



1. # dollar were raised worldwide through crowdfunding.
2. ® dollars were raized worldwide by crowd funding.
3. ¢ dollars was raised worldwide through crowdfunding

4. ® No correction required

Question Number : 129 Question Id : 9767558853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

It was phenomenal to watch the way he (keeps his cool in this dire times).
Options :

1. # kept his cool in this dire times

2. % keeps his cool in these dire time

3. % kept his cool in those dire times

4. ® No correction required

Question Number : 129 Question Id : 9767558853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

It was phenomenal to watch the way he (keeps his cool in this dire times).
Options :

1. # kept his cool in this dire times

2. % keeps his cool in these dire time

3. % kept his cool in those dire times

4. ® No correction required

Question Number : 130 Question Id : 9767558854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

His seemed to reveal more than what he was trying to hide.

Options :

1. # association
2. ¥ prevarication
3. % culmination
4. # jubilation

Question Number : 130 Question Id : 9767558854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

His seemed to reveal more than what he was trying to hide.

Options :

1. # association
2. % prevarication
3. % culmination
4. # jubilation

Question Number : 131 Question Id : 9767558855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The judge banged his several times to demand silence, but he couldn't be heard above the noise that was increasing by the minute.

Options :

1. # carvel
2. % gravel
3. % swivel
4. ¥ gavel



Question Number : 131 Question Id : 9767558855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The judge banged his several times to demand silence, but he couldn't be heard above the noise that was increasing by the minute.

Options :

1. * carvel
2. * gravel
3. % swivel
4. ¥ gavel

Question Number : 132 Question Id : 9767558856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The state and its autocracy always abandoned its poor.

Options :

1. # elated

2. # delighted
3. ¥ benighted

4. % united

Question Number : 132 Question Id : 9767558856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The state and its autocracy always abandoned its poor.

Options :
1. % elated



2. % delighted
3. ¥ benighted
4. * united

Question Number : 133 Question Id : 9767558857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

He had half expected a divine strike, a thunderbolt maybe, as he queued for the body and blood.

Options :

1. ¥ pre-emptive
2. % postoperative
3. % competitive

4. % consecutive

Question Number : 133 Question Id : 9767558857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

He had half expected a divine strike, a thunderbolt maybe, as he queued for the body and blood.

Options :

1. ¥ pre-emptive
2. ® postoperative
3. % competitive

4. % consecutive

Question Number : 134 Question Id : 9767558858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.



The Pygmalion effect is a psychological phenomenon wherein high expectations lead to improved performance in a given area.
P. Its name comes from the story of Pygmalion, a mythical Greek sculptor.

Q. She took pity and brought the statue to life and the couple married and went on to have a daughter, Paphos.

R. Unable to love a human, Pygmalion appealed to Aphrodite, the goddess of love.

S. Pygmalion carved a statue of a woman and then became enamoured with it.

The conclusion derived from that story is that the same way Pygmalion’s fixation on the statue brought it to life, our focus on a belief or
assumption can do the same. The flipside is the Golem effect, wherein low expectations lead to decreased performance.

Options :

1. ¥ PQSR
2. % PSQR
3. % PSRQ
4. % PQRS

Question Number : 134 Question Id : 9767558858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

The Pygmalion effect is a psychological phenomenon wherein high expectations lead to improved performance in a given area.
P. Its name comes from the story of Pygmalion, a mythical Greek sculptor.

Q. She took pity and brought the statue to life and the couple married and went on to have a daughter, Paphos.

R. Unable to love a human, Pygmalion appealed to Aphrodite, the goddess of love.

S. Pygmalion carved a statue of a woman and then became enamoured with it.

The conclusion derived from that story is that the same way Pygmalion’s fixation on the statue brought it to life, our focus on a belief or
assumption can do the same. The flipside is the Golem effect, wherein low expectations lead to decreased performance.

Options :



1. % PQSR
2. % PSQR
3. ¥ PSRQ
4. % PQRS

Question Number : 135 Question Id : 9767558859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The existing oath

P. of allegiance for people

Q. seeking British nationality
R. is to be changed

S. from a royal oath

to a citizenship pledge.
Options :

1. ¥ PQRS

2. % PSQR

3. % QPSR

4. % RSQP

Question Number : 135 Question Id : 9767558859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The existing oath

P. of allegiance for people
Q. seeking British nationality



R. is to be changed
S. from a royal oath

to a citizenship pledge.
Options :

1. ¥ PQRS

2. % PSQR

3. % QPSR

4. % RSQP

Question Number : 136 Question Id : 9767558860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

It is not a coincidence that William Wilberforce

P. and Sir Thomas Foxwell Buxton,

Q. to abolish the slave trade, helped

R. two leaders of the movement

S. found the Royal Society for the Prevention

of cruelty of animals in the 1820s
Options :

1. # PRSQ

2. % PQRS

3. ¥ PSQR

4. ¥ PRQS

Question Number : 136 Question Id : 9767558860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.



It is not a coincidence that William Wilberforce

P. and Sir Thomas Foxwell Buxton,

Q. to abolish the slave trade, helped

R. two leaders of the movement

S. found the Royal Society for the Prevention

of cruelty of animals in the 1820s
Options :

1. % PRSQ

2. % PQRS

3. % PSQR

4. ¥ PRQS

Question Number : 137 Question Id : 9767558861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

A Post-it note is a small piece of paper with a strip of low-tack adhesive on the back that allows it to be temporarily attached to documents, walls,
computer monitors, and just about anything else.

P. The 3M company was initially sceptical about the product's profitability, but in 1980, the product was introduced around the world.

Q. The idea for the Post-it note was conceived in 1974 by Arthur Fry as a way of holding bookmarks in his hymnal while singing in the church
choir.

R. He was aware of an adhesive accidentally developed in 1968 by fellow 3M employee Spencer Silver.
S. No application for the lightly sticky stuff was apparent until Fry's idea.

Today, Post-it notes are sold in more than 100 countries.
Options :

1. ¥ QRSP

2. % QPSR



3. ® QRPS
4. % QSPR

Question Number : 137 Question Id : 9767558861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

A Post-it note is a small piece of paper with a strip of low-tack adhesive on the back that allows it to be temporarily attached to documents, walls,
computer monitors, and just about anything else.

P. The 3M company was initially sceptical about the product's profitability, but in 1980, the product was introduced around the world.

Q. The idea for the Post-it note was conceived in 1974 by Arthur Fry as a way of holding bookmarks in his hymnal while singing in the church
choir.

R. He was aware of an adhesive accidentally developed in 1968 by fellow 3M employee Spencer Silver.
S. No application for the lightly sticky stuff was apparent until Fry's idea.

Today, Post-it notes are sold in more than 100 countries.
Options :

1. ¥ QRSP

2. % QPSR

3. % QRPS

4. % QSPR

Question Number : 138 Question Id : 9767558862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Voracious
Options :
1. ¥ Insatiable



2. % Dainty
3. # Abstemious

4. % Squeamish

Question Number : 138 Question Id : 9767558862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Voracious
Options :

1. ¥ Insatiable
2. % Dainty

3. % Abstemious

4. % Squeamish

Question Number : 139 Question Id : 9767558863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Vicissitude
Options :

1. # Corrode
2. # Change
3. % Mutation
4. ¥ Stability

Question Number : 139 Question Id : 9767558863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below



Vicissitude
Options :

1. # Corrode
2. % Change
3. ¥ Mutation
4. ¥ Stability

Question Number : 140 Question Id : 9767558864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Commensurate
Options :

1. # Fictitious

2. # Veracious

3. ¥ Proportionate

4. % Venerate

Question Number : 140 Question Id : 9767558864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Commensurate
Options :

1. # Fictitious

2. # Veracious

3. % Proportionate

4. % Venerate
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Question Number : 141 Question Id : 9767558865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Peruse
Options :

1. # Swindle



2. % Con
3. # Examine
4. ¥ Neglect

Question Number : 141 Question Id : 9767558865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Peruse
Options :

1. # Swindle
2. % Con

3. # Examine
4. ¥ Neglect

Question Number : 142 Question Id : 9767558866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Slapdash
Options :

1. # Painstaking
2. ¥ Haphazard
3. % Meticulous
4, ® Careful

Question Number : 142 Question Id : 9767558866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below



Slapdash
Options :

1. % Painstaking
2. ¥ Haphazard
3. ¥ Meticulous
4. ® Careful

Question Number : 143 Question Id : 9767558867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Comprehensible

2. % Comprehencible

3. % Comprehensibel

4. % Comprehenisible

Question Number : 143 Question Id : 9767558867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Comprehensible

2. ® Comprehencible

3. ¥ Comprehensibel

4. % Comprehenisible

Question Number : 144 Question Id : 9767558868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :



1. ¥ Incarcerate
2. % Incarserate
3. ® Incerate

4. % Incarcarate

Question Number : 144 Question Id : 9767558868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Incarcerate

2. # Incarserate

3. % Incerate

4. % Incarcarate

Question Number : 145 Question Id : 9767558869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Haemorraghe

2. % Heamorraghe

3. % Heamorrhage

4. ¥ Haemorrhage

Question Number : 145 Question Id : 9767558869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Haemorraghe

2. % Heamorraghe



3. ¥ Heamorrhage

4. ¥ Haemorrhage

Question Number : 146 Question Id : 9767558870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Fiduciary

2. # Feduciary

3. % Feduiciary

4. # Fiduiciary

Question Number : 146 Question Id : 9767558870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Fiduciary

2. # Feduciary

3. # Feduiciary

4. # Fiduiciary

Question Number : 147 Question Id : 9767558871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Add fuel to the fire
Options :
1. # To have a dispute with someone.

2. # When someone is threatening and/or aggressive but not willing to engage in a fight.



3. # When everyone is facing the same challenges.

4. ¥ Whenever something is done to make a bad situation even worse than it is.

Question Number : 147 Question Id : 9767558871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Add fuel to the fire

Options :

1. # To have a dispute with someone.

2. % When someone is threatening and/or aggressive but not willing to engage in a fight.
3. ¥ When everyone is facing the same challenges.

4. ¥ Whenever something is done to make a bad situation even worse than it is.

Question Number : 148 Question Id : 9767558872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Backseat driver

Options :

1. # Someone who fend for themselves and their family even from far away
2. % Someone who is very good at their job.

3. % Someone who doesn't like to participate in anything.

4. ¥ Someone who gives unwanted advice or who tries to control something that is supposed to be controlled by another person.

Question Number : 148 Question Id : 9767558872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Backseat driver



Options :

1. ® Someone who fend for themselves and their family even from far away
2. % Someone who is very good at their job.

3. # Someone who doesn't like to participate in anything.

4. ¥ Someone who gives unwanted advice or who tries to control something that is supposed to be controlled by another person.

Question Number : 149 Question Id : 9767558873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Beating a dead horse.

Options :

1. # When an attempt succeeds and it's time to take up a new one.

2. # A task that can be accomplished very easily.

3. ¥ To waste effort on something when there is no chance of succeeding.

4. % To force an issue that has already ended.

Question Number : 149 Question Id : 9767558873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Beating a dead horse.

Options :

1. ¥ When an attempt succeeds and it's time to take up a new one.

2. % A task that can be accomplished very easily.

3. ¥ To waste effort on something when there is no chance of succeeding.

4. # To force an issue that has already ended.

Question Number : 150 Question Id : 9767558874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom

Finding your feet

Options :

1. # To go from being very poor to being very wealthy.

2. # Something that shows potential or looks promising in the beginning but fails to deliver anything in the end.
3. # Not willing or wanting to change from your normal way of doing something.

4. ¥ To become more comfortable in whatever you are doing.

Question Number : 150 Question Id : 9767558874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Finding your feet

Options :

1. ¥ To go from being very poor to being very wealthy.

2. % Something that shows potential or looks promising in the beginning but fails to deliver anything in the end.
3. # Not willing or wanting to change from your normal way of doing something.

4. ¥ To become more comfortable in whatever you are doing.

Question Number : 151 Question Id : 9767558875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Dropping like flies

Options :

1. #® Being inquisitive about a dangerous situation.

2. ¥ A large number of people either falling ill or dying
3. % To irritate and/or annoy very much.

4. ® The hottest days of the summer season.



Question Number : 151 Question Id : 9767558875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Dropping like flies

Options :

1. # Being inquisitive about a dangerous situation.

2. % A large number of people either falling ill or dying
3. % To irritate and/or annoy very much.

4. # The hottest days of the summer season.

Question Number : 152 Question Id : 9767558876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

A strong verbal or written attack on someone or something.
Options :

1. % Demic

2. % Acmic

3. ® Gamic

4. ¥ Polemic

Question Number : 152 Question Id : 9767558876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

A strong verbal or written attack on someone or something.
Options :
1. # Demic

2. % Acmic



3. # Gamic

4. % Polemic

Question Number : 153 Question Id : 9767558877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

Intended for or likely to be understood by only a small number of people with a specialized knowledge or interest.
Options :

1. # Isosteres

2. ¥ Esoteric

3. % Concentric

4. % Sophomoric

Question Number : 153 Question Id : 9767558877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

Intended for or likely to be understood by only a small number of people with a specialized knowledge or interest.
Options :

1. # Isosteres

2. ¥ Esoteric

3. # Concentric

4. % Sophomoric

Question Number : 154 Question Id : 9767558878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

Intended to cause delay.



Options :

1. # Explanatory
2. # Declaratory
3. % Dilatory

4. ¥ Exculpatory

Question Number : 154 Question Id : 9767558878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

Intended to cause delay.
Options :

1. % Explanatory

2. % Declaratory

3. ¢ Dilatory

4. # Exculpatory

Question Number : 155 Question Id : 9767558879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below

Brisk and cheerful readiness.
Options :

1. # Celerity

2. % Alacrity

3. # Felicity

4. % Sorority

Question Number : 155 Question Id : 9767558879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate 'one word ' for the expression given below

Brisk and cheerful readiness.
Options :

1. # Celerity

2. ¥ Alacrity

3. # Felicity

4. % Sorority
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Question Id : 9767558880 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (156 to 160)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Erwin Schrodinger was born in Vienna on August 12, 1887 and was awarded the Nobel Prize in Physics in 1933. He is best known for his work
regarding quantum theory, particularly about his thought experiment involving a cat in order to explain the flawed interpretation of quantum
superposition.

The Copenhagen Interpretation of quantum mechanics essentially states that an object in a physical system can simultaneously exist in all
possible configurations, but observing the system forces the system to collapse and forces the object into just one of those possible states.
Schrodinger disagreed with this interpretation.

So, what does this have to do with cats? Schrodinger wanted people to imagine that a cat, poison, a Geiger counter, radioactive material, and a
hammer were inside of a sealed container. The amount of radioactive material was minuscule enough that it only had a 50/50 shot of being
detected over the course of an hour. If the Geiger counter detected radiation, the hammer would smash the poison, killing the cat. Until someone
opened the container and observed the system, it was impossible to predict the cat’s outcome. Thus, until the system collapsed into one
configuration, the cat would exist in some superposition zombie state of being both alive and dead.

Of course, Schrodinger claimed, that was ridiculous. Quantum superposition could not work with large objects such as cats, because it is
impossible for an organism to be simultaneously alive and dead. Thus, he reasoned that the Copenhagen Interpretation must be inherently flawed.
While many people incorrectly assume Schrédinger supported the premise behind the thought experiment, he really didn’t. His entire point was
that it was impossible.



While it is true that modern experiments have revealed that while quantum superposition does work for tiny things like electrons, larger objects
must be regarded differently.

Sub questions

Question Number : 156 Question Id : 9767558881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was Erwin Schrodinger awarded the Nobel prize and in which field?
Options :

1. # 1927 in Biology

2. % 1933 in Maths

3. % 1929 in Chemistry

4. % 1933 in Physics

Question Number : 157 Question Id : 9767558882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The thought experiment Schrédinger’s cat explains the flawed interpretation of which subject matter?
Options :

1. # Fluid Dynamics

2. % Quantum Superposition

3. % Quantum theory

4. # Theory of relativity

Question Number : 158 Question Id : 9767558883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, in the thought experiment of Schrédinger’s cat what are the chances of the cat being alive or dead?
Options :

1. # 30 percent alive 70 percent dead

2. % 50 percent alive 50 percent dead

3. % 70 percent alive 30 percent dead

4. # 40 percent alive 60 percent dead



Question Number : 159 Question Id : 9767558884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following given statement is incorrect?

Options :

1. ¥ Modern experiments have revealed that while quantum superposition does work for tiny things like electrons, larger objects must be
regarded differently.

2. % The Copenhagen Interpretation of quantum mechanics essentially states that an object in a physical system can simultaneously exist in all
possible configurations, but observing the system forces the system to collapse and forces the object into just one of those possible states.

3. ¥ Many people incorrectly assume Schrodinger did not support the premise behind the thought experiment.

4. ® Schrodinger disagreed with the Copenhagen Interpretation of quantum mechanics.

Question Number : 160 Question Id : 9767558885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the modern experimental physics, the Copenhagen Interpretation works for which kinds of objects?
Options :

1. ¥ Small objects like electrons

2. % Small and large objects alike

3. % Large objects like cats

4. ® 1t does not work for any kinds of object.

Question Id : 9767558880 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (156 to 160)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Erwin Schrédinger was born in Vienna on August 12, 1887 and was awarded the Nobel Prize in Physics in 1933. He is best known for his work
regarding quantum theory, particularly about his thought experiment involving a cat in order to explain the flawed interpretation of quantum
superposition.

The Copenhagen Interpretation of quantum mechanics essentially states that an object in a physical system can simultaneously exist in all
possible configurations, but observing the system forces the system to collapse and forces the object into just one of those possible states.



Schrédinger disagreed with this interpretation.

So, what does this have to do with cats? Schrodinger wanted people to imagine that a cat, poison, a Geiger counter, radioactive material, and a
hammer were inside of a sealed container. The amount of radioactive material was minuscule enough that it only had a 50/50 shot of being
detected over the course of an hour. If the Geiger counter detected radiation, the hammer would smash the poison, killing the cat. Until someone
opened the container and observed the system, it was impossible to predict the cat’s outcome. Thus, until the system collapsed into one
configuration, the cat would exist in some superposition zombie state of being both alive and dead.

Of course, Schrodinger claimed, that was ridiculous. Quantum superposition could not work with large objects such as cats, because it is
impossible for an organism to be simultaneously alive and dead. Thus, he reasoned that the Copenhagen Interpretation must be inherently flawed.
While many people incorrectly assume Schrodinger supported the premise behind the thought experiment, he really didn’t. His entire point was
that it was impossible.

While it is true that modern experiments have revealed that while quantum superposition does work for tiny things like electrons, larger objects
must be regarded differently.

Sub questions

Question Number : 156 Question Id : 9767558881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was Erwin Schrodinger awarded the Nobel prize and in which field?
Options :

1. % 1927 in Biology

2. % 1933 in Maths

3. ¥ 1929 in Chemistry

4. % 1933 in Physics

Question Number : 157 Question Id : 9767558882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The thought experiment Schrodinger’s cat explains the flawed interpretation of which subject matter?
Options :

1. # Fluid Dynamics

2. % Quantum Superposition

3. # Quantum theory

4. # Theory of relativity



Question Number : 158 Question Id : 9767558883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, in the thought experiment of Schrodinger’s cat what are the chances of the cat being alive or dead?
Options :

1. % 30 percent alive 70 percent dead

2. ¥ 50 percent alive 50 percent dead

3. % 70 percent alive 30 percent dead

4. ® 40 percent alive 60 percent dead

Question Number : 159 Question Id : 9767558884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following given statements are incorrect?
Options :

1. # Modern experiments have revealed that while quantum superposition does work for tiny things like electrons, larger objects must be
regarded differently.

2. # The Copenhagen Interpretation of quantum mechanics essentially states that an object in a physical system can simultaneously exist in all
possible configurations, but observing the system forces the system to collapse and forces the object into just one of those possible states.

3. % Many people incorrectly assume Schrddinger did not support the premise behind the thought experiment.

4. ® Schrodinger disagreed with the Copenhagen Interpretation of quantum mechanics.

Question Number : 160 Question Id : 9767558885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the modern experimental physics, the Copenhagen Interpretation works for which kinds of objects?
Options :

1. % Small objects like electrons

2. % Small and large objects alike

3. # Large objects like cats

4. ® Tt does not work for any kinds of object.



General Hindil

Group Number : 9

Group Id : 976755223
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Hindi Language & Comprehensionl

Section Id : 976755511
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755613
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9767558886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed vy ¥, IR fomedl 7 9, 39 fdded &1 9a &3 ol fohal & Ng aral el [dded gl |
{ATUHT BHI U TEHN HraK gl

Options :




1. % gdeprere foba
2. « UMY o
3. % YT fopan
4. % IR foba

Question Number : 161 Question Id : 9767558886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy #, IR Al A T, 39 fadey &1 99+ B3 o) fobar &6 Wi arer It faswed gt
3T B § Teb HRawd! 8|

Options :

1. % QdpIicid fopd

2.« IR o

3. ® Ammyrq foean

4. % I foar

Question Number : 162 Question Id : 9767558887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeiRad Uy &, IR fawedl O 4, 39 faded &1 99 &< S DIgd U faU 71U Wsq & 3FUR 39T & U &I gl [ddhed gl |
(TSR THA Tg 3T B b

Options :

1. % foarfarivor sfeqy
2. % QUGS 30y
3. ¢ fauqifadius sy
4. % GEYAIUD 3eqd

Question Number : 162 Question Id : 9767558887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy &, IR fawedl O T, 39 faded &1 999 &< S DI¥d U faU 7T Wsq & SR 39T & NG &I gl [ddbed gl




(RNETRT) A S5 3T B v |

Options :

1. % foafaRivur ey
2. % GHAYEIYD 30y
3. ¢ fowarfeaiys sroqg
4. % GEYAIYD 3eqd

Question Number : 163 Question Id : 9767558888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad Uy &, IR fawed § 9, 39 fadmed &1 I8 $H1 off HIadrad 4311 & el [ddHed ol 5|
Options :

1. % fqueran

2. % &Y

3. ¥ dgd

4. % 7

Question Number : 163 Question Id : 9767558888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed oy & aR fawedl § 9, 39 fadwed &1 98 $1 off HIaaTad 4371 &1 el [dhed el g |
Options :

1. % fausfd

2. % &y

3. ¥ dgd

4. % 3

Question Number : 164 Question Id : 9767558889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 8, IR fawedl § 9, 39 f[ddhed &1 909 o Sl DIFH H AU T et & SR G- & Ve ST 95! fadhed ol



ST IR TS A, (@8) e 311 B
Options :

1. % [AS/dra®

2. ® G AP

3. % UYardd

4. ¢ YT ara®

Question Number : 164 Question Id : 9767558889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy o, aR fowed! & 9, 39 fdewed &1 999 &1 ol HIFH | [T T Ueg & AR J-TH & U &1 Gl [ddbed |
U1 IR 7T 2f, (@8) Aie 3% B

Options :

1. % fAsaE®

2. ® JidY dldh

3. ® UYdiddh

4. ¢ Ayg arIH

Question Number : 165 Question Id : 9767558890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad Uy O, IR fawedl O 4, 39 faded &1 o & S DhIgeh § fU 71U Wsg & YR fa=901 o Ug arell fddhed gl
TR R §gd (F<9) |

Options :

1. % grd1S

2. % 3T gRHT0T dradh
3. % ¥ J=HEE®

4. ¢ TUATESD

Question Number : 165 Question Id : 9767558890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fafeiRad Uy &, IR fawedl O 4, 39 fawed &1 999 &< S DIgd U fU 7T s & AR a=Iw0r o Ug arell f[ddhed gl
B TR 9 () B

Options :

1. % GG

2. % AT uRHY arIh
3. % {Aigd S=AaES

4. ¢ TUATES

Question Number : 166 Question Id : 9767558891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 8, IR sl & 9, 39 fadhed &1 999 B Sl GRIol Xeg T Ao fddhed |
Options :

1. % 3fTHc

2. ¥ Qdcyuc

3. % qgId

4. % O

Question Number : 166 Question Id : 9767558891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafed gy o, IR fawed! # 9, 39 [dded &1 997 &< Sl <161 Weg &1 gl fddbed gl
Options :

1. % 3HEH!

2. ¥ 9dcyc

3. % g

4. % OqTg

Question Number : 167 Question Id : 9767558892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafefed vy H, IR fowddl 7 9, 39 fdeed &1 987 &3 ol fAU U Xeg & forw 8t < 9H g & faue &1 fasea 711
SHUAT URTAT

Options :

1. % 3O & S ORI

2. % YA HHH URTAT

3. 3{UAT 3R WRTA

4, % 3UAT b URTT

Question Number : 167 Question Id : 9767558892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafed vy 8 ar s & 9, 39 fawed &1 997 3 S f3u TU 3sg & fore It ge wom & faug &1 fasweu 8|
SHUAT URTAT

Options :

1. % 3O & S ORI

2. ® JUATHHH URTT

3. ¢ U 3R TR

4. % 3UAT hT URTT

Question Number : 168 Question Id : 9767558893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁuﬁ«r@au&rﬁ,wﬁw@fﬁﬁ,w fdehed T IU9 B3 oIl fGT U Usg BT ddH &U Bl |
gl

Options :

1. % qde

2. ¥ (Y

3. % Uah

4. % Uof




Question Number : 168 Question Id : 9767558893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁaﬁ«r@au&rﬁ,mﬁw@fﬁ@r,wf&qowaﬂdw B3 Sl foU U Ueg T d0H U Bl |
gl

Options :

1. % qde

2.¥ (Y

3. % Udh

4. % quf

Question Number : 169 Question Id : 9767558894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qﬁﬂyﬁ?au&rﬁ,wﬁmﬁﬁ@,wﬁwmwﬁ@ﬁnﬂﬂw%ﬂﬁﬂﬁ@zmﬁww
&l

Options :

1. ¢ G + ofdf
2. % Tiem + of
3. % Udar + ol
4. % O + emeff

Question Number : 169 Question Id : 9767558894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WU&[ﬁ,WﬁWﬁﬁ,wﬁmwwwﬂ 3 S feU U WMo & Yot IfY fawde &1 faweu gl
el

Options :

1. ¢ Ute + ordff

2. % tlﬁ&ﬂ+2ff

3. % Tdter + ameff




4. % T + emeff

Question Number : 170 Question Id : 9767558895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy & IR fowddl 7 9, 39 fade &1 9a &3 oY 3T 7T Teg & vafgare) Wee &1 Ug! fdwed 78l g |
AR

Options :

1. #* d1¥Y
2. ¥ gl

3. % 3y
4. % faagy

Question Number : 170 Question Id : 9767558895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofefed vy &, IR fdeedl § 9, 39 fasey o1 99 3 ol f3U 1T Wea & waigard 2ea &1 g fdsed 781 § |
[NIEIR

Options :

1. # dY

2. ¥ 5l

3. % 3y

4. % fqq=r

Question Number : 171 Question Id : 9767558896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR el 7 9, 39 fahcd &1 987 & o fadiH Wsg &1 e 331 faheu g |
Y

Options :

1. % 3




2. % P
3. v 3fd
4. % e

Question Number : 171 Question Id : 9767558896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR e & 3, 39 9wy &1 T B oY {9 e T a9 33T fAbed 5|
AHY

Options :

1. % 3

2. % TP

3. ¢ 3fd

4. % foe

Question Number : 172 Question Id : 9767558897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fadwedl o 9, 39 I8! faeed &1 99+ &< off ATl o Tt Ueb Reg H1 fadbed ol
foree ge < &1

Options :

1. % 3Ry

2. % YR

3. % 3ffcba

4. ¢ gy

Question Number : 172 Question Id : 9767558897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofifed vy & 9R fawed! § 9, 39 Ue! fAwed &1 997 & Sl il & fore U Xeg &1 faded gl
fores g wifed 8



Options :

1. % 3ryfgy]
2. % 3R

3. % 3ffdoa
4. ¢ GigW]

Question Number : 173 Question Id : 9767558898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy §, IR foweal 7 9, 39 I8! faded &1 7 &3 SN foT 71U Wreg & Tgt 31 &1 IfId fasweu g1
G|

Options :
1. % il
2. % gy
3. 3Y
4, ® 1Y

Question Number : 173 Question Id : 9767558898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy §, IR fomeal 7 9, 39 I8! fased &1 T+ &3 SN foU 71U Wreg & Tgt 31 &1 IfId fadeu g1
a9

Options :

1. % ool

2. % gy

3.¢3U

4. % T

Question Number : 174 Question Id : 9767558899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafafad Uy 4, aR fowed! & ¥, 39 98! [ddwed &1 99+ &3 ol Rad I o 1o Iugad Uss &l el [ddhed © |
Tt 7 I B SHFCRY 3R &1 IR B

Options :

1. % §gAM!

2. % fgfy

3.V

4. % G

Question Number : 174 Question Id : 9767558899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa Uy & IR fawe # ¥, 39 el [ahed &1 99+ B S Rad M & o7 Suged Weg &1 el [dbed g |
Tt 7 I B THFCRT 3R &1 IR B

Options :

1. % SgAMI

2. % gy

3. v LIS

4. % @

Question Number : 175 Question Id : 9767558900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy 5, IR fawedl & 9, 39 fddhed &1 909 o Al YG Weg b ol [ddhed o
Options :

1. % Ta

2. ¢ T[ar

3. % TdMHI

4. ® T

Question Number : 175 Question Id : 9767558900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafeiad us ¥, TR fawet § 9, 39 fawey &1 7o &L Sl Y e &1 Ga! fAdwea 71
Options :

1. % TG

2. ¢ TaMI

3. % Il

4. % IdH

Question Number : 176 Question Id : 9767558901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed Uy &, IR fawed § 9, 39 fadmed &1 98 &1 off G Teg BT el [dhed g
Options :

1. ¢ 3m=ftafg

2. % 3ff¥rafg

3. % 3ffRrafe

4. % 3IRRATG

Question Number : 176 Question Id : 9767558901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, TR fowedl & 9, 39 fawey &1 999 &3 o Y Vs &1 Ta! [dbved 7
Options :

1. ¢ 3efafe

2. % 3if¥afg

3. % 3ffRrafg

4. % JRRaATG

Question Number : 177 Question Id : 9767558902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



;émﬁaﬁf@au%rﬁ,wﬁﬂﬁ@,wﬁwmwﬁﬁﬁnmw%waﬁwmﬁwﬁ%
Options :

1. % OR]

2. ¢ Ufas

3. % gfaar

4, % ISR

Question Number : 177 Question Id : 9767558902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%}ﬁf@ﬁ%ﬁ,ﬁﬁﬁﬁﬁﬁ@r,wﬁmwwwﬂ B ol feT T Treg F UMY WMo 1 fdhed A8 B

Options :

1. % URY
2. ¢ Yl
3. % §fHar
4. % JSATRI

Question Number : 178 Question Id : 9767558903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

m%ﬁ,mmﬁ@r,ww fqehed &1 999 B ol faU T Wea-FH & 3 &1 gt fawed g1

Options :

1. # PR 3R T
2. % T AR X
3. ¢ &l 3R I
4. % TR 3R T

Question Number : 178 Question Id : 9767558903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFraffad &, oR Gl B Q, 39 9 fadhed &1 9o & S U 71U Wsg-gi & 31ef o1 9t fashed 21|
R iR =R

Options :

1. % B 3R a%d

2. % T AR Fax

3. ¢ a1 3R T

4. % IR AR T

Question Number : 179 Question Id : 9767558904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁ!ﬁff@ﬁ%ﬁ,ﬁﬁﬁﬁﬁﬁ@r,wﬁmquﬂ B ol fET 1T Treg P Wl =0 9Tl et fAped B

Options :

1. % HRA
2. % B
3. % qrH
4. & HIA

Question Number : 179 Question Id : 9767558904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁ!ﬁf@ﬁt{%ﬁ,ﬂﬂﬁﬁq‘fﬁ@r,wfwwaﬂdw B3 N faT U Weg & TfeRT = arel I8t fdsheu g |

Options :

1. % FHRA
2. % pRIgA
3. %



4. ¢ B

Question Number : 180 Question Id : 9767558905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue o, TR fawenl § 9, 39 fawey &1 7o &3 S foU T8 Weg & dgaeH U &1 Jad 331 fawhed B
fafaan

Options :

1. # fSfeal

2. % fdfean

3. ¢ foifeat

4. % fafgarsf

Question Number : 180 Question Id : 9767558905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad uy o, aR fawedl & T, 39 faswey &1 999 &3 Sl fAU 70 Wsg & §gd9- U &1 Ja 351 fadhe g
foifean

Options :
1. ® fofeal
2. % faifean
3. v fafear
4. % faf-cai
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Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755614
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9767558906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gaﬁf@ausrﬁ,%n?ﬁmq‘rff@r,wﬁwmwﬁ@ﬁwﬁ@ww%a@wnwﬁwmﬂéﬂmwmwﬁm
|

Options :

1. % (3P TS & WA § Prs H g7 T8 bl g

2. ¢ (3M0) 3 Y Ugd $© W el o]

3. % (3Y) §Td BT 9gd HioA g

4. % (J) 3T (U TR W S I8 g

Question Number : 181 Question Id : 9767558906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

gﬂaﬁfr@?rt{%rﬁ,aﬂﬁwq’fﬁﬁ,w el BT TG B Il HIFH H [T T Teg & ATIR AHH 3N dradh G4 & Jad 33T fddhed
|
Options :

1. % (37hT) TS b WA A i Y 837 T8l I g
2. ¢ (1Y) 3 I Ugd $& WeR -Ta 4

3. % (3) §Td BT 9gd Hio g

4. % (d) 39 3T TR W AT A6 g

Question Number : 182 Question Id : 9767558907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoRad Uy |, IR fadwedl 7 ¥, 39 fdwed &1 999 &3 o) feT TN 9190 & &1d &1 ol fdbed gl |
3G = W T foram g |

Options :

1. ¢ TG Ydbral

2. % gdedue Yddld
3. % Y HideTd
4. % G YdbTd

Question Number : 182 Question Id : 9767558907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRufeRad Uy #, IR Al A ¥, 39 fawed &1 994 B3 o) feT TN 9190 & &1d BT Yol fdw e gl |
3G = W T foram ghm |

Options :

1. ¢ TG Ydbral

2. % gdeqye Yddld
3. % g HidseTd
4. % HHEY YdbTd




Question Number : 183 Question Id : 9767558908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad vy ¥, TR fawet # 9, 39 fawey &1 7o &3 S fou T8 argy & e gfa & e &1 Te o1 fdwed g |
SUERSHRGE]

Options :

1. ¢ g

2. % Hagrd

3. % Jurard

4. % fgemd

Question Number : 183 Question Id : 9767558908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy ¥, aR fowedl & T, 39 faswey &1 999 &2 Sl foU 70 areg & fore gy & Y &1 9ad o1 fased ]
SRS

Options :

1. ¢ s

2. % Jagrd

3. % Jurard

4. % faugd

Question Number : 184 Question Id : 9767558909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy 8, IR fowddl 7 9, 39 fdeey &1 987 B3 o f3U T8 a1e & fow uel & A &1 9oy 3151 fadheu g |
9= &1 TR dgdl &l ol T 3!

Options :

1. % gufdreia®

2. % qAGdeH

R A IGEIRED




4. % IRYIYIdD

Question Number : 184 Question Id : 9767558909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy 8, IR el 7 9, 39 ey &1 9a= &3 off 3T T8 9190 & T uel & A &1 99y 3131 [ddheu g |
¥ 1 §UR a1 5l o 381 !

Options :

1. % gofdrnde

2. % qAERaeH

3. ¥ TTfaEd®

4. % IRYIdD

Question Number : 185 Question Id : 9767558910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 5, IR fawedl & 9, 39 f[ddhed &1 909 o Sl Y a1 &1 oY 33T [ddved 5|
Options :

1. % TSIt <= A Ml 3R Gl I STehHUT HRIT SITE|

2. % TSR SR A M 3R A ¥ 3repHu faan

3. % TSR SR &I el § dIdl & 3mehHul fhan g

4.« TSI =1 Tal 3R vat & 3mepyur o

Question Number : 185 Question Id : 9767558910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue o, TR fawel § 9, 39 fawey &1 7 L Sl Y 91 T Ja 3737 fadhed g |
Options :

1. % TSI =T A Ml 3R ATGT § SHIehHUT BT S|

2. % USIT <= A Tt 3R 1Y § 3T faba

3. % USRI S &) Miall § Al I SA1ehHUT fa g




4. ¢ TSI =17 TaT 3R iUl I 3shHuT fo

Question Number : 186 Question Id : 9767558911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad vy, IR fawedl & ¥, 39 fdeed &1 9ad &3 Il Ua! a1 He &l f[dwea gl
98 S 3TN T Y& Rl 38T fob 2 GaATdhTd gl Sia |

Options :

1. % ggad I

2. ¢ Ty arR

3. % YHdldd dld

4, ¥ WA dIHY

Question Number : 186 Question Id : 9767558911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefed gy H, IR fawedl 7 9, 39 fdwhed &1 997 &1 1l Tal arag Ye &l f[dhed gl
I8 S TR H Yciier ol I8l fos G Garehrd g1 Sme |

Options :

1. % Igod a1

2. ¢ Ty a1y

3. % UYdrdd dif]

4. % A AR

Question Number : 187 Question Id : 9767558912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol gy o, IR faded! # 9, 39 [dded &1 99 &< ol el aled e B fadbed gl
I I8 QDTag WIS e & o AR T

Options :

1. % faYMdTED aIR




2. % IR I
3. Y 9

4. % ggad I

Question Number : 187 Question Id : 9767558912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed uy §, IR iwedl 7 9, 39 fawca &1 97 &% St 9gl a1 U &1 f[dbeu gl
3T 98 APIag WG forn g S 3Ry T

Options :

1. % fquTara® arg

2. % XA aIHI

3.« Y 9

4. % IgId a1

Question Number : 188 Question Id : 9767558913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy O, aR faswed! & 4, 39 fdeed &1 99 &< Sl faR1 fIg god a1 &1 Hal fadheu gl
Options :

1. ¢ HHR g|" Il A BT 3R T BT SR ST, "ORIe & fore a1 &1 gy

2. % WPR g| IS A HgT AR H=A & ST ST, uten & e ey &t Sy

3. % HHR g ol A Hel 3R Tl HI o < uten & o sqawa &1 S

4. % WHR g| ST A FHgl AR F=A o1 S <, uslen & e e & S

Question Number : 188 Question Id : 9767558913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR fawedl O 4, 39 faded &1 o9+ &< SNt faR1d forg god a1 &1 Hat fdded gl |
Options :

1. ¢ "WHR g|" IS A BT 3R Al B SR ST "I o T a1 1 <1y




2. % WIHR g ST A BT 3R T DI 311 &1, OTedT & ol soayT &1 ST
3. % "IIHR 8" ST = HeT 3R Hl P T <, UR1eTT & T STawiT i S
4. % WIHR g| IS A Hel 3R HAl BT MR <, udien & forg soawyy &1 S

Question Number : 189 Question Id : 9767558914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy 3, aR fawedl & 4, 39 fdeed &1 99+ o3 Sl faR1 g god aret &1 9al fdsbed 31|
Options :

1. % g fIca e &g 81 U, "o Udhs-all - 8 98 Ues] 3Tl g

2. ¢ a8 fIcer-faeare) &g TeT T, "q Uhs-ah HA g1 a8 Uedl S[ral g

3. % gg foca-RIcATeHR &g X1 U1, g3l Udhs-all HA gt 98 Ut IWTS! g

4. % gg facar-RIcaax &g 81 U1 g3 Udhs-al T4 g1 98 Uesl SWTe! g

Question Number : 189 Question Id : 9767558914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad us H, IR fadedl | 4, 39 fabey &1 =g o il fov1H g gord a1e 1 gt fdbed 811
Options :

1. % gg faca foeees &g Y81 U1, "I Udhs-all HA gl a8 Uedl I9Te! g

2. ¢ 98 fIea-RIcae &g |1 U, "g3 Udhs-al! T+ 81 98 Uedl 3@ra! g

3. % g8 RIc-RIcaeR &8 W61 U1, Y3 Udhs-al 77 g 98 ucst SWrs! g

4. % g RIca-facaa 8 Y67 41 43 Udhs-all H4 g1 a8 Ul SWrs! g

Question Number : 190 Question Id : 9767558915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa Uy & IR fawe # 9, 39 fawey &1 7 o3 off fau 7T etk o1 98t o aran fawe g
JAaR P YR TR Ia-I-

Options :

1. % PIs IST HTH B AT




2. % Ui Dt I H 3§
3. ¢ §gd Hidd B Bl
4. % ogf gAY

Question Number : 190 Question Id : 9767558915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafed uy &, 9R fawedl 8 9, 39 faded &1 997 &Y S fau 7TU ggTar &1 wet o ara fawed g
JAdR &1 YR TR FeT-

Options :

1. % B 91 HH B Al

2. % Th DI o § |

3. ¥ 9gd Bied B Bl

4. % o JUIAT

Question Number : 191 Question Id : 9767558916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawed § 9, 39 fadhed &1 78 &< off [T T ggTar &1 9e o arar fawed g
&l TP §1d He-l-

Options :

1. % HING Ual AT

2. % dgd =5

3. % YT gH

4. ¢ UIS W] B T 91 FE

Question Number : 191 Question Id : 9767558916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad us o, TR fawenl § 9, 39 fawey &1 7o &L S fou 78 eTar &1 Iet o aran fawea 71
& ¢ S1d Del-



Options :

1. % AAUG UGl Bl

2. % qgd J=

3. % YT gH

4. ¢ S Teal T WY 1A HEAl

Question Number : 192 Question Id : 9767558917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vs o, TR fawenl # 9, 39 fawed &1 7o &L S fou 78 eTer &1 Jet o aran fawea 71
YTg I

Options :

1. % Ue gl

2. % dgd Yob Sl

3. % Yguid g

4, & H bl HId Sl

Question Number : 192 Question Id : 9767558917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%@au&rﬁ,wﬁwﬁﬁ@r,wi&mwmqw ®3 ol fau 7T geraR &1 wat 3 are fawed g
Yl -

Options :

1. % 0 g

2. % dgd Yob Sl

3. % Ygid g

4.« H DI HIG ST

Question Number : 193 Question Id : 9767558918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fRufafad sy A, IR el § 1, 39 fawey &1 7 & 5t <t 173 diopifad o1 Tat 31 arar fasey gl
ga® d Mod @ds I Us! -

Options :

1. % B8R & &1 UgS ¥ &1 s &

2. % f91 T fohT B &9 ST

3. ¢ Hg I FAedl! a1d IR R & Td 91t §
4. ® ST HTH 391 8 B fHa

Question Number : 193 Question Id : 9767558918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiad uy & IR foeeal ° T, 39 ey &1 Ta &3 ot <1 71 dipifad &1 Tet 3 arar ey g
gad ¥ fHddl Ias I Usl -

Options :

1. % B8R & &I Ugd ¥ gl s &

2. % {91 T fopT B &9 ST

3. ¢ g ¥ el 910 IR TOR # T o1l §
4. % SIGTHTH 91 81 e THe

Question Number : 194 Question Id : 9767558919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfIed Uy 8, 9R fawed! § 9, 39 faded &1 997 ®1 Sl 41 715 Aldliad o o o ara fddbed g
39 @, 9f Te-

Options :

1. * TTid Yepfd el A Ieh 7™ ) gRT Sl &

2. ¢ B 999 &) IfgHH S &

3. % B3l ol 91d DI G JHSAT

4. % % w1 %1 uRomy e

Question Number : 194 Question Id : 9767558919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Fofed gy o, IR fadwed! o 9, 39 [9aed &1 997 &< ol < 715 dioiiad o Ge! 3 arell fadbed g
39 T, §fg de-

Options :

1. % id UHid I A7 Hieh 779 &) 8RT <l &

2. ¢ B A9 &l FfgH i ol 8

3. % {3l ol 91 &1 gd JHSAT

4. % foddt 1 &1 ufRoma g

Question Number : 195 Question Id : 9767558920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiad uy & IR foeedl ° T, 39 ey &1 Ta &3 ot <1 71 dipifad &1 Tel 3 arar ey g
o &1 S1eT e o ¥R -

Options :

1. ¢ 3y fHdt &1, o fordlt 3iR &1

2. % foufy o ug O™ &I UreT YeRT fHa-n
3. % GRUMH $ A bl

4. % AP DI ATATH T HTH BT USdl §

Question Number : 195 Question Id : 9767558920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foaiiad Uy & IR foeedl & ¥, 39 foey &1 Tg &1 ot <1 71 diopifad &1 Tet 3 arar ey g
I T STl §ex P R -

Options :

1. ¢ 3 fdt &1, o foret 3R 1

2. % foufy O U oI ol UreT YeRT e
3. % URUM $@ 7 Hdha

4. % IATH D) ITATDHT Y BTH BT USdl §




Sub-Section Number : 2
Sub-Section Id : 976755615
Question Shuffling Allowed : Yes

Question Id : 9767558921 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

= Ru T e & wre 5 vy fau T €1 39 iR oY eydes Ug SR IR faw el § § YA Uy 1 gy 3R g |

G AU &1 3 & AU affyes arararor A fadRf goft o= & get e ¢ Tl § e eRUT e # T 97l &1 IRAR 81 s
& S S aTeT, e, SRy, ATerd SR S oI A4 &1 g1 Ugirdl dl YR AR 9d 6 & | 3d ¥a &1 [avd § o a9
Xa=F A ot ST Uit T d Bl o & g | YT & AT W S $B [T o7 X877, AR 7 81 §, 39 YR Siia- Ji &l R &l
i Rear 781 &, 3 90 T ft ol R & | 72t diet St g & o1t Ui & fadr S &1 S8 GReRA & A 93 $© JIRGHT, ST
3R HIRSH BT A6l &, SHP] HITAH g1 HIferD & | Sl 3 8, 96 I ol ol Foball | FHIS bl R1d I 1 UG el 51T ol JHIS Xd
ST 8T 31T T8 A 81 7T © b qReei R feramy oM aret srwefiet exat & R Hifeal Tep Iy 3ifd IR &% 381 1 Aol 9 31 Bl
g +ft gRE=M IR fEETT SR AT 1 IR R 3R HiHTeT W 307 FIR dad™ ol ¢ | T8 HRGH 1 a8, 7 99 &1 /g 91 o1
ek 8 376 | R St 19 15T, 98 Yax 4 81 Gobdll 6|

Sub questions

Question Number : 196 Question Id : 9767558922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31T & T IfY TR0 & HRUT AYuf Fe fHd v g2

Options :

1. % foddi 1 i =81

2. % e awgal § P
3. ¢ faa=it goit e ol

4. % YR Bl

Question Number : 197 Question Id : 9767558923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TE &b TR T3 3N SHaRIT BT URIT gRE= IR o1 YU UST 82

Options :




1. ® §3-BIc O & SFIHR HRHH G/ TG &

2. % ReRH BT TOR-UR HH 8 AT 8

3. % YRGSl Jed! o Wafid HrishH [GE S8 §

4. ¢ TG Bt g gl ¥ Gefird HrishHl o7 RAR 81 T 8

Question Number : 198 Question Id : 9767558924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R IR AN 9 a1 §HaH HRIshH! &1 o YHTd 81 I8T 87
Options :

1. % ORI | HH!

2. % gt o1 faer g g n

3. ¢ % UGl IR 11 wHTa fore fafvst srorrelf &1 3fg
4. % 93 Nt &1 AFRYS fawer

Question Number : 199 Question Id : 9767558925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T DI - T Xeg a1 HT Giara sk g 87
Options :

1. ¥ ™R

2. JIARTT

3. % Tax

4. % fa<itg Sire

Question Number : 200 Question Id : 9767558926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y 3fwSE BT Hls Jugad Hd-
Options :

1. ¢ YR gR&xH Bt fA=rea Rt YT |
2. % YR GRERM B AHRIAD YHHT




3. % 3] P dldTdU[
4. % 3Ol Y HRER

Question Id : 9767558921 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

it fau A iR & 91 5 Uy fAU TR § 1 9 TR 1 eydeh ug SR IR fdsed! § Y Ude Uy &l HdiaH STk |

G AU &1 A & Y affye arararor A fadRi Ioft o= & geit e ¢ 39! § forge HRUT gReviE § T[99l &1 IRAR 81 s
& S S AT, T, ORIy, T1era IR ™1 OiY A4 BT giaH YRl Pl YR AR 99 36 ¢ | 3Hd UG P [ § o A9
GG A Hft 3@ HISH T a DI 3H o g1 SNYFAHAT & 10 W S $S [G@T S @1 &, AT off X867 7, I YR St Jedi &l g Bl
Ui Rear 781 8, 3 T T ot oI @R & 1 72t il St T & 3a-1eq s ol & ATy A 1 SITTe qRERH & WA 93 R $B YR, ST
3R HIRSH BT Al &, D] UG g1 HIferb & | Sl 31 8, 98 I g1 5l Feball | FHIS bl R1a -1 1 UG -6l g1 ot JHTS Xd
S EN| 37T T8 AR 81 718 & fob gRae W Ry o a1d) sreeliel exdi @ IR difedl ue ary offd IR & @ &1 Aden 9 21 81
Ry off gRa= TR faaTy 3R GATE o7 38 TR SR HATSi IR 30 IR dad o ¢ | T8 iy 7 Ria 8, 7 90 &1 Rid 91 &t
i 8 399 | iR Sl e 15T, 98 Y= 4 51 Ihell 5|

Sub questions

Question Number : 196 Question Id : 9767558922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 & T af¥ye ardTaRTT & HRUT YUl Fe fad U g2
Options :

1. % foddi I i =81

2. % TR awgal § P B

3. ¢ fae=it gsit A= &l

4. % YR Bl

Question Number : 197 Question Id : 9767558923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TE P AR T3 3N AT BT URAT R TR o1 UHTE UST 82

Options :



1. ® §3-BIc O & SFIHR HRHH G/ TG &

2. % ReRH BT TOR-UR HH 8 AT 8

3. % YRGSl Jed! o Wafid HrishH [GE S8 §

4. ¢ TG Bt g gl ¥ Gefird HrishHl o7 RAR 81 T 8

Question Number : 198 Question Id : 9767558924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R IR AN 9 a1 §HaH HRIshH! &1 o YHTd 81 I8T 87
Options :

1. % ORI | HH!

2. % gt o1 faer g g n

3. ¢ % UGl IR 11 wHTa fore fafvst srorrelf &1 3fg
4. % 93 Nt &1 AFRYS fawer

Question Number : 199 Question Id : 9767558925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T DI - T Xeg a1 HT Giara sk g 87
Options :

1. ¥ ™R

2. JIARTT

3. % Tax

4. % fa<itg Sire

Question Number : 200 Question Id : 9767558926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y 3fwSE BT Hls Jugad Hd-
Options :

1. ¢ YR gR&xH Bt fAr Rt YT |
2. % YR GRERM B AHRIAD YHDHT




3. % 35T pT TRl
4. % fIQUI HI AR



